Large Optical Rails OBA-LH
Large Low-Profile Optical Rails | OBT-LH/LUU

-
OBA-LH BB W6019
é;’gt'l‘:;“’" Large Optical Rails have a tube-shaped cross section with fins extending radially in four directions.
Ootics & @ Carriers for large optical rails can be mounted on all four surfaces, top, lateral sides (two faces) and bottom, using these fins.
ptics
tical - ) .
ggalt(;:gs il Guide Outline Drawing
» Contact our Division for information on ruler scale installation and
Opto- custom lengths. OBA-LH Zé')AI% ?E
Mechanics . . i A
Specifications e X
B Weight
Bases | Part Number (mm] (mm] lka] / /
OBA-500LH 500 - 33 [
Manual OBA-1000LH 1,000 - 6.6 |
Stages OBA-1500LH 1,500 - 9.9
2x4-M6 P1 depth 15 ¢ 86PCD
OBA-2000LH 2,000 - 13.2 Tapped holes on both ends
Actuators &
Adjusters
OBT-LH/LUU B8 W6020
Motoeized . . . L. . .
Stages Designed to be directly mounted on top of a vibration isolator or optical laboratory bench using M6 or 1/40 - 20 bolts.
° -wi -hi [ [ [ [ [ ight.
Light Sources & 100mm-wide, 25mm-high optical rails have a low optical axis and light weight
Laser Safety il Guide
» Contact our Division for information on ruler scale installation and 2D|(3D
Index custom lengths. cAD||cAD
Outline Drawing
Guide OBT-500LH/S00LH [ "o societieascapseren OBT-1000LH/2000LH [ Feosysectetiomscopseon
o Hex wrench for M6...1 screw 25 Hex wrench for M6...1 screw
Vibration 25 10 15 15
5.7 |, 10 50 $6.5 $11 counterbore 0 5.7 ‘_ 52 o ¢6.5 ¢11 counterbore 10
Optical Tables b= d|

Darkrooms/
Dark Boxes

Optical Bases
Posts
Brackets
Adapters

Tools

D024

| . g |
%E ot 1 EE##%@ ﬁé% W@F¢E&”#*€E’W

(50) (¢} (50) 20 (100) ¢

A A

(100)

C: 100mm pitch between the centers of slotted hole and counterbore

OBT-LUU ] Hexagon socket head cap screw 1/4-20UNCx3/4...3 screws/6 screws/9 screws/11 screws
25

5.7
50.8 -
T:’ N
©|
- = — %—#—%——
10
177.8
20
B [ B
A
S ificati Primary material: Aluminum
pecitications Finish: Black Anodized
C
Part Number A B [mm] Weight
[mm] [mm] [ka]
METRIC INCH METRIC INCH

OBT-500LH OBT-500LUU 500 72.2 100x 4 i 177.8x 2 1.7

OBT-1000LH OBT-1000LUU 1,000 55.5 100x 8 i 177.8x 5 3.5

OBT-1500LH OBT-1500LUU 1,500 38.8 100x14 i 177.8x 8 5.2

OBT-2000LH OBT-2000LUU 2,000 111 100x18 177.8x10

[Option Scale Installatlon and Cus Lengt

® Custom lengths not listed in the catalog are available.

@ To order surface finishing of the cut surfaces, specify “with
reprocessing”.

@ For the OBA-L and OBA-SH series, to use tapped holes on
the lateral side after cutting, specify “with tapped holes”.

@ Since the price varies depending on the specifications such
as one-side cut, both-sides cut, with tapped holes etc., con-
tact our Sales Division for more information.




Carriers for Large Optical Rails | CAA-L

B8 W6021

Carriers are designed to mount on large optical rails (OBA-L/LH) or large low-profile optical rails
(OBT-LH). They freely slide on the rails and can be locked in place.

® The CAA-80LF is designed to be attached to the
bottom of a large optical rail for direct clamping to an
optical vibration isolator or laboratory bench.

® The CAA-100LC is designed to assemble large optical

rails at right angles to each other.

Outline Drawing

CAA-40LN/40LEE/40LUU

Application
0 Guide Systems
p Friction-reducing tape is applied to the carrier surfaces that will be Optics &
in contact with optical rails. Use as-is without removing the tape. Optical
Coatings
2D||38D Opto-
CAD||(CAD Mechanics
[l Bases

CAA-60L/65LEE/65LUU

4 40 4 60 2-MGP1depth7 . 65
11 16 16 | 2-M6 P1depth 7 X 11-M4 depth 10 25 25 q A__A _
2Mdep 10 T I 15ra coptn 6 5-8 depth 7 1 T8 T 15-8 depth 7 Manual
- a 14 M16 P1 o o ¢ Stages
g . 4 M16P1 depth 10 < @ D D depth 10 |o & o
ol 8 .“-’F: b < i sl & | Al B N < Actuators &
g 7" N‘ 'QL+ bd 4| < 3 T8 Y - E b
- Tt - - i I I o o o
<
* ¢ o o Motoeized
9 4\. Stages
| M8depth 12 -M3 depth 6
* i 920 $20 Light Sources &
s § $20 920 B 8 15
g g Lo Laser Safety
s - -
CAA-40LN Part Number o B = CAA-60L Part Number o B
[mm] [mm]
CAA-40LEE 25 M6 P1 CAA-65LEE 25 M6 P1 Index
CAA-40LUU | 25.4 | 1/4-20UNC CAA-65LUU | 25.4 | 1/4-20UNC
_ _ Hexagonal socket head cap screw
CAA-80L " CAA-100L 100 CAA-80LF [ M4x10...4 screws, Flat washer
24 60 2-M6 P1 depth 7 70 2-M6 P1 depth 7. o4 80 Guide
11 11-M4 depth 10 25 25 25 25 0 50
£ 1 11-M4 depth 10 ' < leoiaonSytome
& &
0 X * 11 M16 P1 _ 1 M16 P1 ©Q Q Optical Tables
2 T e e depth 10 - R depth 10 3 o el 3
B g & | 8| N | B 2 Darkrooms/
- U © - U 0
8 g 4 8 & % Dark Boxes
- 1t ¢ - AR S - & S
s 5 5 4-¢55 Optical Bases
3 . .\ii 3l $9 backing
7 Ll ,ﬁ ¢ Nawms depth & ! Lo W > ¢ \—# counterbore depth 8 Posts
M depth 12 M8 depth 12 SM3 deptn &
$20 $20 $20 Brackets
33 8 ﬁ:ﬁ 8 15 [ 33 8
g g 3 Adapters
CAA-120L/120LEE/120LUY CAA-100LC [ [i353sockacd o serew ool
120 2-M6 P1 depth 7 120 24 100
25 25 25 25 A A _A_A
17-M4 depth 10 - 3 T | et m - s —
f pre o 6 6 o ¢ | 8
¢ ¢ M16 P1 < 2 bz B | o
- \4 ¢ e ¢ ol Tepmio[¢ ¢ o o b 3 bt =3
8 N o f\/ o 66— 06 o6 < I
—J ¢ o—0 —@
8 78 . . < 3
- ¢ 6 o e o o o o © a Bl ;s(\
- 3 3
@
s L @24 o o © © © ©
—1 4-¢7
e tﬁ o b a-b -
’\ $11 backing
6-M3 depth 6 counterbore depth 7
PCD$86
20 20 R 620
o M8 depin 12 E:f L7920 PartNumber |t B a3 g e
S CAA-120LEE | 25 | M6P1 325
CAA-120L CAA-120LUU | 25.4 | 1/4-20UNC
Specifications Eir:igﬁfysmfﬂég\immum
Part Number . . . Weight
Compatible Optical Rails
M4 M6 INCH P P lkal
CAA-40LN CAA-40LEE CAA-40LLL | 029
CAA-60L - S 03
- CAA-65LEE CAA-65LUU Large optical rails (OBA-L*/LH) | o042
CAA-80L = = Large low-profile optical rails | 05
CAA-100L - - (OBT-LHLLY) o6t
CAA-120L CAA-120LEE CAA-120LUU EEEDI0024 or2
CAA-80LF - - 051
CAA-100LC = = 0.57
WEB http://www.sigma-koki.com/english/ E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550 D025




Application
Systems

Optics &
Optical
Coatings
Opto-
Mechanics
Bases [ |

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets
Adapters

Tools

D026

OBA-SH
OBT-SH/SUU

Medium Optical Rails
Medium Low-Profile Optical Rails

OBA-SH BB W6022

Medium Optical Rails have an X-shaped cross section with fins extending radially in four directions.

® Carriers for medium optical rails can be secured to any
of the four surfaces of the rail.

B Guide

P Contact our Sales Division for information on ruler scale installation
and custom lengths.

Outline Drawing Specifications i B Anodizon

OBA-SH Part Number [mAm] V\I[iigg]ht
- A OBA-300SH 300 0.9
| ewee | -~ 1 OBA-500SH 500 15
° /" depth1o \[.. ] ~ OBA-800SH 800 23
m[% o [l N OBA-1000SH 1,000 2.9
> OBA-1500SH 1,500 44
OBA-2000SH 2,000 58

OBT-SH/SUU B8 W6023

These 50mm-wide 25mm-high rails are designed to be directly secured on top of a laboratory

bench while keeping a low optical axis.
2D||3D

Outline Drawing

: Hexagon socket head cap screw M6x18...5 screws - Hexagon socket head cap screw M6x18...7 screws/17 screws
OBT-300SH H Hex wrench for M6...1 screw OBT-500SH/1500SH E Hex wrench for M6...1 screw

25 52 6.5 $11 counterbore .25 52 6.5 ¢11 counterbore
10 5.7 10
10 T t 10
s}
I <l £ ‘ 8 =
I g . Y = 3 . == — >0
(50) 100 100 (50) (50) | C (100mm pitch between the centers of slotted hole and counterbore) | (50)
300 A

OBT-800SH/1000SH/2000SH E Hexagon socket head cap screw M6x18...11 screws/13 screws/23 screws

Hex wrench for M6...1 screw

52 $6.5 ¢p11 counterbore

g‘ - 15 10
—¢ == oo == o9

C (100mm pitch between the centers of slotted hole and counterbore) (100)
A

25

5.7 50.8
’_ ! LI~ =
= SN : = e |
10 "
0 % ll Guide
B 355.6 B T ] i
A P Contact our Sales Division for information on ruler scale

installation and custom lengths.

Primary material: Aluminum

speCiﬁcations Finish: Black Anodized
Part Number A B [ n:';m] Weight
METRIC INCH [mml (oo METRIG INGH k]
OBT-300SH OBT-300SUU 300 61.1 100x 2 177.8x1 0.6
OBT-500SH OBT-500SUU 500 ’ 722 ' 100x 4 17782 11
OBT-800SH - 800 ) - T ook 6 T o
OBT-1000SH OBT-1000SUU 1,000 ’ 55.5 ’ 100x 8 17785 22
OBT-1500SH = 1,500 ' - 7 100x14 I sz
OBT-2000SH - 2,000 ' - ~100x18 - a4




CAA-LS/MB
OBT-LS/LW/WL

Carriers for Medium Optical Rails
Feet for Large Optical Rails

CAA-LS/MB BB W6024

Carriers mount on a medium optical rail, slide freely and can be locked in place at any location.

Outline Drawing

CAA-25LS/25LSEE/25LSUU CAA-40LS CAA-60LS |5
18 25 18 40 _ 2-M4depth5 18 60
1 2-M4 depth 5 = M16 P1 depth 7
8 42 20, Wd’;pﬂﬂ 25_ 3-B depth 6 18 iM3depth7 |22 o R, 25 25 | ool lCeP L
|  f M1EP1depth7] | | depth 5.5 k
A ml depth 4 AT K M16 P1 depth 7 po I R e
Y > < S < 0 PPN RS
N ooo[f'{ “ cwor Y ]| ® Ngt o (] .
o ©|® & ] o mme GO 1= o w & (D¢
= Q) =} —r of @ o @ 8
° e
E?. 2-04.5 E?. E?. mi
Backing Part A ,"* v
¢ 8 counterbore B | 2-¢4.5 N
W S W] Number jjmj 2:M2.6 depth 5 s s 2945
27| ¥ »16_| | ®16_| | CAA-DSLSEE | 25 | MGPI 27 < »16 8 counterbore P 16 Backing
A ’ 5] depth 5 g ¢ 8 counterbore
% CAA-25LS CAA-25LSUU [25.4 1420UNG 2 2 Jopths
Hexagonal socket head
CAA-65LSEE/65LSUU CAA-100LS CAA-60MB [ (o 500w V0. 4 screws

8-M4 depth 5.5 M16 P1 depth 7

18 65 18 100 - 18 60
|8 A_ A | 9-Bdepth6 ] 25_ 25 m‘ |8 50
) | S 00 B ) ——
) o L © ™
= e ® ﬂ D o ‘?’[$
8 < I > S 8 SE
6 o o N o 85<é\ s %
i A [ e\ e
Part Number [mm] B a R 8-¢4.5
CAA-65LSEE 25 M6 P1 g-MtBh F §—¢2:5 ?ba;.lgr:?ounterbore
L” g 916 CAA-65LSUU | 25.4 | 1/4-20UNC Lﬂ % P 16 e terbore 27l g 16 depth 5
s g depth 5 § For mounting magnet base

Primary material: Aluminum

Specifications Finish: Black Anodized

A [P I':lﬂlémber INCH Compatible Optical Rails W[i'g]ht
CAA-25LS CAA-25LSEE CAA-25LSUU 0.1
CAA-40LS = = Medium optical rails (OBA-SH)

CAA-60LS = = Medium low-profile optical rails (OBT-SH/SUU)
- CAA-65LSEE CAA-65LSUU I3 D026

CAA-100LS - -

CAA-60MB - -

OBT B8 W6026

® OBT is composed of a thin aluminum plate and adjustable feet.
Attaches to OBT-LH/SH optical rails. It allows +/-10mm of height
adjustment.

ll Guide

P Two M4x6 mm socket head screws are needed when used with CAA-25LS.

Outline Drawing

. Hexagonal socket headcap screw - Hexagonal socket headcap screw - 2D| (38D
OBT-LS E M6x18...2 screws OBT-LW E M6x18...2 screws OBT-WL CAD
120 2-M6 P1 120 2-M6 P1 160
2-M4 2-M4
30_/ L= 30_/ = 100
= 7] S 2 ¥ S 50
5 Seamk 5 IS ‘ ‘
i : i : o+ 0l
N 2
©f O Q&E 3{ M8 P1
80 Groove for mounting large low-profile bench
100 2-M8 P1 Py
20
=
M8P1 o
- 91 8
St medium low-profile bench J—L&
@J—L Groove for mounting
g - Primary material: Aluminum
Specifications Finish: Black Anodized
Part Number Compatible Optical Rails V\I[i'g]ht
OBT-LS Large low-profile optical rails (OBT-LH)  [EEEEI D024 0.28
OBT-LW Medium low-profile optical rails (OBT-SH) EZZEDI D026 0.33
Large low-profile optical rails (OBT-LH)  [EEEMI D024
OBT-WL Medium low-profile optical rails (OBT-SH) [T D026 0.24

WEB http://www.sigma-koki.com/english/ E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550

Application
Systems

Optics &

Optical

Coatings

Opto-

Mechanics
M Bases

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets
Adapters

Tools

D027




Application
Systems

Optics &
Optical
Coatings
Opto-
Mechanics

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets
Adapters

Tools

D028

Magnet Base

Flexible Post Holder

MB

MB-MX/MX-AM

BB W6027

These bases can secure optical components to any flat magnetic bench.

® The magnet is activated by switching the lever ON/OFF.

® Does not require tapped holes for attachment.

® The tappes holes on the top surface can be metric or
inch depending on the model.

B Guide

P A SP-130 adapter can be used to attach stages to the surface of
the MB-CB-PB bases. DIEIIEY W6072
eference JRIOZES

P The opposite surface of the ON/OFF switching lever of MB-PG is
also magnetized.

2D||38SD
CAD||CAD

Outline Drawing

MB-S40 MB-L40 MB-CB-PB MB-BUU
10_ . 40 50 50
40
P M6 P1 depth 6 34 4-M4 depth 7 31.75 4-8-32UNC depth 8
4-M3 depth 6 8-M3 depth 4.5
i ms — 3 4| mi16 P1 depth 6 == & 1/4-20UNC depth 8
ept ©
of o P ol "l o @ o l e ,\/
SIS & Qo @ 5| @ () 53 T
o | -
0 s A © ©
o
4-M2 depth 3 ; :
o > %
Eup ] S 3 N % s
IS = ¢ 7 Nz
o X 9
L—T
MB-L65C-M4 MB-L65A-M6 MB-L65C-M6EE / MB-L65C-1/4UU
° 25 > 25 ° 25 > 25 = &
8-M4 depth 6 f 8-M6 P1 depth 6 r_i.._i.‘ 9-B depth 6
e & M16 P1 depth 6 o & M16P1depth6 6 ©
s
N
<
A
Part Number (mm) B
MB-L65C-M6EE 25 M6 P1
MB-L65C-1/4UU 25.4 | 1/4-20UNC
MB-PG MB-L120-M4 MB-L120-M6
60 6 120 6 120
70 50 ’-é—ré—ké—ré-‘ 24-M4 depth 6 525, 25T 25~‘ 24-M6 P1 depth 6
50 - — — L
[——*‘ 4-M4 depth 8 4Madeptns | H4 4+ o < M16 P1 depth 6 | o © o M16 P1 depth 6
S o 3
o & M16 P1 depth 6 o o 16 P1 depth & He 4:% 6 o i%
—— | 0 wn
ol o s Y/ ISR Il \'/ o o ® o I PPN o6
N ® A\ ¥ e v S A SNV A S S U@
wn
N
He * 3 ® He 4 o + < & o o °o °
['e]
= Y «
& 7#+4r++@ ,¢¢9¢${&
~ 3 T P Py T
< g OFF oN Q OFF i oN
o N L &) L
o
N f% \/ \_/
A
3 N /e | |
y 94, IRINs, f LBy f Ly
_/'__‘\




Specifications

B Nummlear Holdin'g;;l Force V\I[iig]ht

MB-S40 - 198 (about 20kgf) 0.4
MB-L40 - 49 (about 5kgf) 0.2
MB-CB-PB MB-BUU 294 (about 30kgf) 1

MB-L65C-M4 = 198 (about 20kgf) 0.5
MB-L65C-M6EE MB-L65C-1/4UU 198 (about 20kgf) 0.6
MB-L65A-M6 - 198 (about 20kgf) 0.6
MB-PH = 490 (about 50kgf) 25
MB-PG = 490 (about 50kgf) 2.4
MB-L120-M4 MB-L120-M6 294 (about 30kgf) 2.4

MB-MX/MX-AM

The Post Clamp can be pivot freely loosening the clamp handle to
reposition post mounted holders quickly and easily.

MB-MX o123

16

12 2
g\
N
S
28
$9.9 Clamp handle
(73.5)
3 M
«@Q
S,
g ./
17 N
¢11.9
['e}
o
o
)T 8

58.5

50

79.7

$50

MX-AM ~ ¢12:

B8 W6038

[N

1
o
o
<

60

14.5

Clamp handle

(73.5)

$34

353

17

¢11.9

i

170

o [ aoer
M16 P1

® The cam style clamping mechanism can easily be locked and unlocked with the
turn of the knob.

® The post clamp is designed to securely hold ¢12 posts.

® The MB-MX has a magnetic base and can be freely secured on flat magnetic
surfaces.

® The MX-AM has an external thread M16P1 on the bottom. It can be directly
secured to base plates.

2D
CAD

3D
CAD

SV

Outline Drawing

Specifications

Part Number Holding Force* W[iig]ht
MB-MX 1.96N (about 0.2kgf) 1.9
MX-AM 1.96N (about 0.2kgf) 0.9

* Holding force is a reference value.

WEB http://www.sigma-koki.com/english/

E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550

Application
Systems

Optics &

Optical

Coatings

Opto-

Mechanics
[l Bases

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets
Adapters

Tools

D029




Application
Systems

Optics &
Optical
Coatings
Opto-
Mechanics
Bases [ |

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets
Adapters

Tools

D030

Base Plate | Bsp/FBP

B8 W6028

M6/INCH

MG6/INCH type parts can mount to M6 or 1/4-20 holes on standard hole spacing.

Outline Drawing

® M16P1 tapped holes fit a post holder or post. Other
tapped holes on the top surface allow for different sized
stages to be secured.

@7 mm slotted bases can be use on both metric and inch
hole patterns.

® The base clamp (BSC-60) allows a base plate to be
secured at an arbitrary position where there is no
tapped hole. EEEmI D032

2D|(|SD
CAD||CAD

BSP-2460

E Hexagonal socket headcap screw M6x18...2 screws
Flat washer

10

24

4-M2 M16 P1
BSP-70120
E Hexagonal socket headcap screw M6x14...6 screws
Flat washer
120
s 2-M4
62 7
25 25
° ]
© © =

70
25

J v

>

©

D-—p8
(N

8
62
25
€

62
25
) Yo
"o
B €
OO
>

8-M4 4-M3 PCD¢42
4-M4 M16 P1

BSPS-246010

E Hexagon socket head cap screw
(stainless steel construction) M6x18...2 screws, Flat washer

24
20
7

BSP-40100

H Hexagonal socket headcap screw M6x14...2 screws
Flat washer

100
47
32
20 7

+
(D¢
I\ Q
E3
&
M16 P1
BSP-70170
E Hexagonal socket headcap screw M6x14...6 screws
Flat washer

70
25
J ) v

8-M4 4-M3 PCD¢42
4-M4 M16 P1

BSPS-4010010

E Hexagon socket head cap screw
(stainless steel construction) M6x18...2 screws, Flat washer

100
47
32
20

Tr
g~ ) C\oaa %
eSS

42
32

4-M2 M16 P1
4-M3 depth 6 M16 P1
4-M2 depth 5
Primary material: Aluminum Primary material: Stainless Steel
Mé Finish: Black Anodized M6 Finish: None
Weight Weight

Part Number k] Part Number kal
BSP-2460 0.027 BSPS-246010 0.078
BSP-40100 0.06 BSPS-4010010 0.26
BSP-70120 0.13
BSP-70170 0.18




FBP-50UU/65UU

E Hexagonal socket headcap screw M6x8, M6x18...1 pieces each (EC)

Hexagonal socket headcap screw

1/4-20UNCx5/16, 1/4-20UNCx3/4...1 pieces each (US)

Hexagon socket head cap screw

HEINE D
Part Number W[?(ig]ht

FBP-50UU 0.03

FBP-65UU 0.03

BSP-65EE 0.03

FBP-75WUU 0.05

BSP-85EE 0.06

BSP-85UU 0.06

BSP-120EE 0.13 =5
BSP-120UU 0.13 CAD

BSP-65EE

(stainless steel construction) 1/4-20UNCx5/16...1 pieces each (US)

A
20 + B
\
fas s m—t—
&/ h
* Part Number | , A
7 (mm) | (mm)
ol FBP-50UU | 50 | 17.5
1 é I 91 FBP-65UU | 65 | 325

@11

BSP-85EE/85UU

E Hexagonal socket headcap screw M6x15...2 screws (85EE)

Hexagonal socket headcap screw 1/4-20UNCx5/8...2 screws (85UU)

85
50
M
ERE
D6 /4‘3 o€ <e
o
o/ ©
B 8-C
Part Number . B C
(mm)
BSP-85EE 32 M6 P1 M3
BSP-85UU 31.75 | 1/4-20UNC | 6-32UNC

Hexagonal socket headcap screw M6x15...2 screws (EC)
Hexagonal socket headcap screw
1/4-20UNCx5/8...2 screws (US)

3D
CAD

FBP-75WUU

Hexagon socket head cap screw
(stainless steel construction) 1/4-20UNCx5/16...1 pieces each (US)

75

=

D— ) r—]ztm
O— & q <

)

D ‘ -~ 8]
P

M4 4-M2 depth 4

Designed to mount optical units on optical
baseplates (OBB) with M2 tapped holes.

ll Guide

P Optical baseplates (OBB) with M2 tapped holes are also available.

I D035

Outline Drawing

Pan head screw M2x8...2 screws

BSP-24

Flat washer

- N*il:
; M4 depth 5

WEB http://www.sigma-koki.com/english/

BSP-39 [ Pan head screw M2x6...1 screw

M4 depth 5

39

C’)Fl

1

) L 14

BSP-120EE/120UU

¢11

E Hexagonal socket headcap screw M6x15...2 screws (120EE)
Hexagonal socket headcap screw 1/4-20UNCx5/8...2 screws (120UU)

li rawin

E Hexagonal socket headcap screw M6x8, M6x18...1 pieces each (EC)
Hexagonal socket headcap screw
1/4-20UNCx5/16, 1/4-20UNCx3/4...1 pieces each (US)

120
75
A A
>ro O O GC— 1
<
o — ) o) A A ~
~ — v O AN
<
LI o o od=
9-B -
Part Number (mAm) B
BSP-120EE 25 M6 P1
BSP-120UU 25.4 1/4-20UNC

e o Primary material: Aluminum

Specifications Finish: Black Anodized
Weight

Part Number kgl

BSP-24 0.004

BSP-39 0.006

BSP-50 0.016

7

10 15 7

14

E-mail international@sigma-koki.com

Pan head screw
BSP-50 M2x6...6 screws %‘% %‘%
50
40
30
10__10
N ~
o * ol
) TED ¢
B o J
Y l o—C A4 -
e
== 4 4x o
= ° V=
8-M2 depth 4
M4 depth 5

TEL +81-3-5638-8228 FAX +81-3-5638-6550

Application
Systems

Optics &

Optical

Coatings

Opto-

Mechanics
[l Bases

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide
Vibration

Isolation Systems

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets
Adapters

Tools

D031




Application
Systems

Optics &
Optical
Coatings
Opto-
Mechanics
Bases [ |

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems
Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts

Brackets
Adapters

Tools

D032

Base Clamps BSC
M6 Conversion Adapters | AD-Mé

BSC 4 B8 W6029
Clamp for use with BSP series M6 base plates.

® Can be used to secure base plates or other flat plates.
@ Clamps plate thicknesses of 7 — 10mm.

Outline Drawing
BSC-60/60UU 60

25
ll Guide
P This base clamp allows the user to secure base plates at an S (( )} @,
arbitrary position about a single tapped hole.
26
S ificati Primary material: Aluminum
pecifications Finish: Black Anodized
A Weight e : L ;
Part N B - ‘ ;
art Number fmmi kal N ~
BSC-60 14.5 M6 P1 0.04 <
BSC-60UU 16.5 1/4-20UNC 0.04 B

M5 hexagon socket set screw

Use at 3 or less

W6030
Outline Drawing M6-M2 Conversion Adapters Outline Drawing

M6-M4 Conversion Adapters

® Adapter for converting a ® Adapter for converting a
mounting hole from M6 to M4. CAD||CAD mounting hole from M6 to M2. CAD||CAD
AD-M6-M4 AD-M6-M2
$10
$10 o4
iy
< - I
o of of
$4.5
$2.4
6 o6

g - Primary material: Aluminum 7] - Primary material: Aluminum
Specifications Finish: Black Anodized Specifications Finish: Black Anodized
Weight Quantity Weight Quantity
Part Number kal [Pieces] Part Number kal [Pieces]
AD-M6-M4 0.004 10 AD-M6-M2 0.005 10

Example of Use of Conversion Adapters

RS ) = o & =
- - - - - -

- - - - - -
- - - - - -

- - - - - -

M6-M4 Conversion Adapters: AD-M6-M4
Pedestal Bases: PST-40
Pedestal Clamps: PSCA-11.5

M6-M4 Conversion Adapters: AD-M6-M4
Post Holders: RS-12-30
Base Plate: BSP-2460

Using adapter AD-M6-M4, (example: OBC-3045) breadboard fasten to.



B8 W6031

Kinematic Bases/Kinematic Base Plate | REP

Kinematic base composed of a top and bottom plate.The top plate secures holders or other
equipment while the bottom plate is fixed to an optical breadboard.

® Accurate positional repeatability is achieved by matching the holes on the upper plate to the three steel balls embedded
in the bottom plate.

® The top plate can be secured with a strong magnet or a knurled set screw depending on the version.

® The top plate of the REP magnetic type series (25x25 mm, 40x40 mm, 60x60 mm) can be quickly removed our swapped
out. It has a repeatability value of less than 100prad.

® Always secure the bottom plate with screws.

Magnet type Fixed type Top Plate only (Left)

ine Drawing

2D|(8D
REP-60

E Hexagonal socket head cap screw M4x8...4 screws

REP-25

B Hexagonal socket head cap screw M2x6...4 screws

REP-40/40UU

E Hexagonal socket head cap screw M3x8...4 screws (40)
Hexagonal socket head cap screw

(stainless steel construction) 6-20UNCx5/16...4 screws (40UU) 60
25 40 15 50
A
F&T 42 dopth 4 12 - A | +Bdeptns . 32
IR M4 depth 4 ? -
—— s 4-92.5 Il
¢4.2 counterbore 1@ 338 { J‘\
& H
6 '
A ¢D S| @)
Part Number (mm) B (¢} (mm) ‘k
REP-40 32 M3 M6 P1 3.5
REP-65EE/65UU REP-40UU | 31.75 | 6-32UNC | 1/4-20UNC | 4
E Hexagonal socket head cap screw M6x12...4 screws (65EE)
Hexagonal socket head cap screw 6-20UNCx5/16...4 screws (65UU)  REP=-70 REP-100
251 E Hexagonal socket head cap screw M4x10...4 screws E Hexagonal socket head cap screw M4x10...4 screws
r—— 12 [12 70 100
7B ] 25 25 25 25
] ‘ depth 10 T 17 | 17 5
B o Rt )8 8-M4 depth 8 =
s 407 5 —— M16 P1 depth 10
< . $11 counterbore = M16 P1 deoth 10
8l ¢ O (@*7 LI 8-M4 depth 8
< & &
~—k e, He | o -
© $ = ¢
&
&
Part Number (mAm) B A
REP-65EE 25 M6 P1 5
REP-65UU 25.4 1/4-20UNC olam
|
REP-65PEE/65PUU 5
65 £ )
A A 7.8 12 7-¢4.5 mounting hole ol \4-94.5 mounting hole
depih 10 H #8 counterbore 8 counterbore
o & f
<
[Te) ! A\ o A\
© Y A4 Y
< 'ﬁ{ B
hd _\% - Primary material: Iron f
Fixed type Finish: Black matte I Guide
I —— A g Part Number W[iig]ht » Mirror holders can be directly mounted to
(mm) 9 flip mounts, FMB-40. These flip mounts
REP-65PEE 25 M6 P1 REP-65EE 0.29 move the mirror outside of the optical path.
REP-65PUU 25.4 1/4-20UNC 7i;ié|;_ié75766 7777777777777777777777 6 7é’9 777777777777 DI CO18 [FEmETn W4006
”””””””””””””””””””””””””””””” P We offer top plates for replacement other
REP-70 0.77
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, than catalog products. PIEIEEEE
Primary material: Aluminum o 9p
Magnet Type  iich. Black Anodized REP-100 15 W6031
Weight -
Part Number [kg] Top Plate only Frimary material: Aluminum I Attention
REPIos 0.03 P Y Finish: Black Anodized
,,,,,,,, B U A Weight P The magnet type of REP series (25x25
REP-40 0.07 Pl T k] mm, 40x40 mm, 60x60mm) should be
"REP-40UU | 007 REP-65PEE 0.12 loaded on its center axis. IOff—axis loads
REP60 ************************** 0 09 REP65PUU ********************* 0 PP maybe cause the magnetic to detach.

WEB http://www.sigma-koki.com/english/

E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550

Application
Systems

Optics &

Optical

Coatings

Opto-

Mechanics
[l Bases

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets
Adapters

Tools

D033




Application
Systems

Optics &
Optical
Coatings
Opto-
Mechanics

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems
Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts

Brackets
Adapters

Tools

D034

Optical Baseplates | OBC

BB We032

Black Anodized Aluminum Base Plates.

Can be used on small vibration isolators or laboratory benches for optical systems.

@ Attached grips allow easy moving and storage.

® M4 or M6 tapped through holes are arranged on
25mmx25mm spacing. 1/4-20UNC tapped through
holes are on 25.4 mm x 25.4 mm spacing

® Flatness is 0.2mm.

B Guide

P Each baseplate comes with two aluminum handles.
P Custom sizes are available contact our Sales Division for more

information.

2D
CAD

SO
CAD

Outline Drawing

OBC-3045 Series OBC-4560 Series
H Hexagon socket head cap screw (stainless steel construction) M6x10...4 screws (3045, 3045-M6) B Hexagon socket head cap screw (stainless steel construction) M6x10...4 screws (4560-M6)
Hexagon socket head cap screw (stainless steel construction) 1/4-20UNCx3/8...4 screws (3045-1/4UU) Hexagon socket head cap screw (stainless steel construction) 1/4-20UNCx3/8...4 screws (4560-1/4UU)
46
o0 a3F [ 110
A (pitch Cx24 holes) 3
450 10 ."—......................—“ 4:1-7
- 208-F o R I A ¢
A (pitch Cx18 holes) .3
r =) P e
s o 6 s s s s 6 5 6 6 6 6 6 8 o s o B © e s s 6 s s 6 5 6 8 6 6 s s 6 s s e s o o s o B
< o
P Y e
® o o o o o o o o o o o o & o o < e o o & o o o & o o o o o o o o o o & & ° o <
® ® ® © ® © ° ° o ° ° o o o o ° ﬁ n ® o o o o o © & © 9 o o 0 o o ® © © © 0 O o ?_)C) wn
= =
L P 5 L S A 5
SRICICIEICSCECIIPIPITI ISR Il S I IR -1
R I I D R I AR A AR e
I e 17\ 67 mounting hole niiiiniiiiiiiiiiiiino
$11 counterbore L’,”......................‘LJ i
4-¢7 mounting hole E
¢11 counterbore
Part Number A (mm) | B (mm) | C (mm) | D (mm) | E (mm) F Part Number A (mm) | B (mm) | C (mm) | D (mm) | E (mm) F
OBC-3045 425 275 25 250 400 M4 OBC-4560 575 425 25 400 550 M4
OBC-3045-M6 425 275 25 250 400 M6 0OBC-4560-M6 575 425 25 400 550 M6
OBC-3045-1/4UU 431.8 | 279.4 | 25.4 254 406.4 | 1/4-20UNC OBC-4560-1/4UU 584.2 | 431.8 | 254 | 406.4 | 558.8 | 1/4-20UNC
_ - Hexagon socket head cap screw (stainless steel construction) M6x10...4 screws (4545, 4545-M6)
OBC-4545 Series E Hexagon socket head cap screw (stainless steel construction) 1/4-20UNCx3/8...4 screws (4545-1/4UU)
450 A6 10
A (pitch Cx18 holes) 316-F 3
[ | A:‘k
R AN A ;
B 2
2
P I 1
2
e e e e s e e b e e e ® .
ST [ PSRN B T 8
<
e e e e e e et e e e e e g
R N =
L T Y
LR A AL N A N N Part Number A (mm) | B(mm) | C (mm) | D (mm) | E (mm) F
L{ﬁ: R, :‘ojig & OBC-4545 425 | 425 25 400 | 400 M4
497 mountinghole/ | c ] OBC-4545-M6 425 | 425 | 25 | 400 | 400 M6
#11 counterbore OBC-4545-1/4UU 431.8 | 431.8 | 25.4 | 406.4 | 406.4 | 1/4-20UNC

Primary material: Aluminum

Specifications Finish: Black Anodized
Part Number
Tapped Holes on Top Surface [ﬁﬁne] W[iig]ht
M4 M6 1/4-20UNC
OBC-3045 OBC-3045-M6 OBC-3045-1/4UU 300x450 3.6
 OBC-4545 OBC-4545-M6 OBC-4545-1/4UU 450x450 o s4
 OBC-4560 OBC-4560-M6 OBC-4560-1/4UU 450x600 I T




Optical Baseplates | OBB/OBC B8 W6033

The OBC base plate has M4 tapped holes on a 25x2 5mm matrix, and the OBB base plate has M2
tapped holes on a 10x10mm matrix.

Application
[l Guide Systems
» Medium low-profile optical rails or compact aluminum rails can be Optics &
secured on the top surface. In that case, adapters for converting Optical
M6 to M4 (AD-M6-M4) and M6 to M2 (AD-M6-M2) are available. Coatings
[Roeronce ) B0
P We will accept production of sizes not listed in the catalog. Opto-
Contact our Sales Division for more information. Mechanics
Attention
| [l Bases
P Note that this product does not come with grips.
Manual
Stages
Actuators &
Adjusters
CAD|(CAD .
Motoeized
Stages
aw
OBB-1216 OBB-1230 Light Sources &
Laser Safety
B Hexagonal socket headcap screw M6x10...8 screws, M4x12...4 screws E Hexagonal socket headcap screw M6x10...8 Screws, M4x12...4 screws
160 300
150 (pitch 10x16 holes) 290 (pitch 10x30 holes) 10
156-M2 @ x ) 310-M2 ® = ) Index
depth 4 ‘10 depth 4 10
— | N+ L + P \—@4¢¢¢¢¢4¢¢+¢¢¢¢¢¢¢+4¢¢¢¢ ©
E'o' *@@&v*v*«v*%v g,? 4+ o+ @#40#40&»#40#4¢¢‘440§@Y*
H + ¢¢¢@¢v¢¢©¢4¢ + 2 PR R R IR e *¢»¢©¢¢¢¢¢»¢¢ + 4+
- EIE IR I R RS PR SRS — R I AR IR IR A R A R R Guide
% B I T T B S % P R O R I I IR IR IR SR A P S A R R
I 3kl 8 & 2 3Ll g 4+ —_—
Tl s R R R IR AR AR IS - Tls DR R R AR R I R A AR AR SR SRR SRS SR SRR R SR AR R A Y a }gg{:iggl?smems
£ $$¢$¢@$¢$¢ e b = ¢¢¢¢¢¢¢¢¢¢¢¢@¢¢»¢ IR R -]
= A R R =~ I A R R IR IR R AR S R I I S A S -
8 v@ov& + [+ + I+ 8 + 4 @»440»404 + e+ 04»*404@’ F 4{ OpticaITabIes
- «*ﬁ}& 44+ 4 N\O - L & R R R R R R R RS &f*&f#&f@%’v i
- Darkrooms/
) 50 50 4-¢ 4.5 mounting hole Dg:k ggxes
8-¢7 mounting holes 100 225 8 counterbore 8-¢7 mounting holes
®11 counterbore 4-¢ 4.5 mounting hole "
125 ¢ 8 counterbore 250 11 counterbore Optical Bases
Posts
OBB-2030 Brackets
E Hexagonal socket headcap screw M6x10...8 screws, M4x12...4 screws
300 Adapters
554-M2 290 (pitch 10x30 holes) 10
depth 4 10 13 Tools
1
5 P A I R I I I R g R R I I SR S e Y
"’7?#@?@*0??#?0?*0?#*?0?00@#@0? -1
+ + e R R 2 IR R I o A AR R R S + e ¢ -
P I I IR I I I S S P R R R R R R
= R R I I R R R e A IR T A R A TR d IR IR A R R A | 45
E R I T S A R R R TR S S S S N B SR S N S S S R Y
8 v*«v*v««vv¢v@v§¢v©§v¢¢¢¢v*¢*¢v =)
oy R R T I A R e A I I AR A =
< P IR I I S S S S P R R R
g ¢ 88
N.L:) R R o T A I R R R A S R S S R R R A SR R SR R R -
= R R I R P e P R R R R =
2 R I I S R b A IR IR IR R -
5 PR R IR IS S P R S T T T S S S Y
- R R R R I IR IR T R A DR R R N A e dn a4
R I I A A b o IR R S PR E SeS R I I S S S A e
Y N R R IR Y ¢¢@¢ + 4 -]
‘f@‘ R AR R R AR S R R + :@3‘ -
R & R R S I SR SR SRR R S DR SRS
50
8-¢7 mounting holes 200
11 counterbore 250 4- ¢ 4.5 mounting hole

¢ 8 counterbore

=g - Primary material: Aluminum
Specifications Finish: Black Anodized
Size Weight
Part Number [mm] Tapped Holes on Top Surface kgl
OBB-1216 120x160 M2 0.48
OBB-1230 120%x300 M2 0.93
OBB-2030 200x300 M2 1.58

WEB http://www.sigma-koki.com/english/ E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550 D035




Application
Systems

Optics &
Optical
Coatings
Opto-
Mechanics
Bases [ |

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems
Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts

Brackets
Adapters

Tools

D036

Optical Baseplates
Aluminum Spacers (25 x 25 mm)

OBB/OBC
MSP-25

2D |(|38SD
CAD|(CAD

Outline Drawing

E Hexagonal socket headcap screw M6x10...4 screws (121EE) H Hexagonal socket headcap screw M6x10...4 screws (123EE)
Hexagonal socket headcap screw 1/4-20UNCx3/8...4 screws (121UU) Hexagonal socket headcap screw 1/4-20UNCx3/8...4 screws (123UU)
300
160
290=(P10x29) 1
150=(P10x15) 10 -t
( ) [ 10 314-M2 18
10/  160-M2 depth 4
depth 4 | |
v@+¢¢¢¢¢+¢@l c* 4 @¢»¢++¢¢¢¢4¢¢¢¢+¢¢+¢»¢¢¢¢@ 13
»4004»4»4404494¢L‘ AR I I L LI LR I IR LR S IR
¢¢b‘¢h¢‘¢g@¢¢¢¢¢ P I R R R R - SRR . SR dE SR IR R S e | I
DR R e ¢*§¢¢*4»¢¢*¢V¢¢‘¢@§§»¢¢¢¢0§¢»¢ =) I
BRI R s 3| o R ek IR R R S B T e R I S S SRR SR SR 3l o
< o T E‘C\_l 1 O] o A S S o e e e e AR e e o e e e e e e e i e E‘(\_l e
AR S SRR AR SRR IR A T A R R IR SR R SRR I R I SRR AR R SR I SR O iy
R IR Iy S ahd hAR Y S dh R S T R i i Y S dhd R s y¢¢¢»¢¢¢¢¢¢¢ 5 =
T+ 4+ Y 44 Y5 404 4 - [ IR EEEEEEER) AR R R - .
*«;\v*»«v*«<*¢v¢v PEFE P e+ **v¢»*¢v*¢v¢—o}
(@) 'S b @ =] -
-+ + ¢+¢¢<¢€?¢ Ol A AR E AL, ¢¢¢¢¢¢¢¢¢€% i —
B 8-07 5
A $11 counterbore 8-07
A @11 counterbore
E Hexagonal socket headcap screw M6x10...4 screws (203EE)
Hexagonal socket headcap screw 1/4-20UNCx3/8...4 screws (203UU)
300
290=(P10x29) 10
10 554-M2 3
depth 4
T I B
R T I S O b Ak I SR R S B S S R Ak b 2 T SR R =
¢g@3»¢v**»»vf«»**»«+**v¢»*g@*¢—"k E
PR A R A Ik IR R I R R N A R R A dEE IR IR R R SRS o
D R T T T S e S B R e R R R SR SR R A R
DR i e S R R e SR e R
DR i e S R o B O e
¢¢¢¢»¢4¢4¢¢»m¢0¢4@¢+¢¢»¢¢§¢»¢¢ P isE
R A AR O R I e AR e 2 -
R IR I A I T I R S R SR A A e e I R SR SRR n’fo
O| m e e e A a i o o o e & R B S e S SAER AR St 98
EAR IR IR SR R 2 2 20 20 20 2R b 2R SR 25 2R S 2k 2 2 2b 20 2R S0 2R 2h S 2 4 T
“‘**“**"*r\“**@‘****‘**"*‘ 8 il
R R R SR AR A R o R IR SR SRR SR - -
R IR I Tk Tk TR I SRR I R S R R I Rt i S R S S
D R T S o e R S R Rkt Ik SR e IR S
R IR R O A A R AR IR I RS R R R IR R AR e R
B A S O T T T i S N et gk I R S S S -
2000000000 SROSD DOSODEEEEC T
R I Tk I S N R A e R AR
B 8-¢7
A ¢11 counterbore

Specifications
P U [ﬁnlfne] RIS o e [mAm] [mBm] [mCm] W[(liigg]ht
OBB-121EE 120160 M2 100 50 - 048
OBB-121UU 120x160 ’ M2 1016 50.8 - 0.48
OBB-123EE 120x300 M2 250 50 100 0.93
OBB-123UU 120x300 M2 254 50.8 101.6 0.93
OBB-203EE 200x300 M2 250 50 150 158
OBB-203UU 200x300 M2 254 50.8 152.4 1.58

Example of baseplate usage




W6033

CAD|(CAD
Outline Drawing
OBC-1216 OBC-1230
E Hexagonal socket headcap screw M6x10...8 screws, M4x12...4 screws E Hexagonal socket headcap screw M6x10...8 screws, M4x12...4 screws
160 300 10
25 25 25 25 25 25 19 25 25 25 25 25 25 25 25 25 25 47-M4 NS
‘ { ‘ ‘ 27-M4 ,j_é ‘ ‘ { ‘ ‘ ‘ through hole I
T T T r/ through hole T T T T T T =y
e @ ¢ ¢ o O 4 E R EEEECORE B
d o o - g | o ° -
o o © o © o o FH ¢ 6 o o © © ©® e o o o 5%
Q9 || 4.5 9 11,45
& ffo—o—o o—o——of- @ I+t & ++—o—o—o—o—0 o—6—0 o —o (2 I+t
el ['e}
N N
e o © o o o as e e e o © o e © o© o ¥
Q © Q B Q © ¢ B
o o o o \O '\g = ® 6 6 o o e\e o @ \¢ =
4-¢7 mounting holes 125 4-¢7 mounting holes . 205 4-¢7 mounting holes
$11 counterbore #11 counterbore 4-¢7 mounting holes 11 counterbore
4-¢4.5 mounting hole 911 counterbore 4-¢4.5 mounting hole
¢8 counterbore $8 counterbore
OBC-2030
E Hexagonal socket headcap screw M6x10...8 screws, M4x12...4 screws
300
10
25 25 25 25 256 25 25 25 25 25
69-Md )
/ through hole I
e @D o o o o o o+ o O :/ i
el
5Y
e 6 oo © o o o © ¢ o B
Q |].4.5
° © © © © © © A © < <
el
(=3 N w
s o—06—0——0-—0 0o 00 X +
N 0 -
N
© © Rd © © © © @ © < <
el
N
¢ 6 o © e o e e o ¢ Bz
{ !
@o /@ e 6 6 6 o o\ e O ¢@ i
‘ 275 ‘ 4-¢7 mounting holes

@11 counterbore
®4.5 mounting hole
®8 counterbore

4-¢7 mounting holes
$11 counterbore

g - Primary material: Aluminum
Specifications Finish: Black Anodized
Part Number [iifne] Tapped Holes on Top Surface W[iig]ht
OBC-1216 120x160 M4 0.48
OBC-1230 120x300 M4 0.93
OBC-2030 200x300 M4 1.58

Spacers for [ 125mm positioning stages.

B8 W6034

Outline Drawing

- 25 2D||38D
MSP-25 10__10 8024 !

® These spacers allow users to

increase the height (thick- T T ]
nesfs) of SFages. s
@ Various thicknesses are SN N
. . . 0|
available in 5mm increments. S A
o o 9
Specifications Primary material: Aluminum
P Finish: Black Anodized
Thickness t Weight
Part Ni
I oo art Number [mml kol
uide MSP-2505 5 0.008
» Custom sizes not listed in the catalog can be purchased. 10 0.016
Contact our Sales Division for more information. MSP-2515 15 0.024

WEB http://www.sigma-koki.com/english/ E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550

Application
Systems

Optics &

Optical

Coatings

Opto-

Mechanics
[l Bases

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets
Adapters

Tools

D037




Aluminum Spacers (40 x 40 mm)

MSP-40

B8 W6035

ol
Spacers for 40 x 40 mm positioning stages.
Application ® These spacers allow users to increase the height
Systems (thickness) of stages.
@ Various thicknesses are available in Tmm increments.
Optics &
Optical T
Coatings B Guide
P Custom sizes not listed in the catalog can be purchased.
&ptot; ) Contact our Sales Division for more information.
echanics
Bases [ |
2D||8D
Manual CAD|(CAD
Stages
Outline Drawing
Actuators &
Adjusters MSP-40: MSP-40% %A MSP-40+ B
E n:ﬁggz zggt:: Rzgg g:g 22::& mg:}ij 22;2&2 }iggg; E Hexagon socket head cap screw M3x10...4 screws E Hexagon socket head cap screw M3x10...4 screws
. Hexagon socket head cap screw M3x16...4 screws (4005)
Motoeized 40 6635 40
Stages 16 16 -¢ 3. t 16 16 4-M3 depth 6 4-¢ 3.5 mounting hole
¢ 6 counterbore
) © © © 14
Light Sources & © © ©
Laser Safety do— 1 —ol—12 © O —¢2 2
@ @ e
& (2 © o 2 o
Index 4-$3.5 mounting hole 4-M3 depth 6
® 6 counterbore
Guide
Vbration oms Combination Example (Height: 48mm)
Optical Tables
Darkrooms/
Dark Boxes
. f15mm
Optical Base:s [N SR > <SS PR o MSP-4015A
3
Posts “M8P-4003
Brackets
Adapters [ Verlioa08
Tools M3
Mounting Surface Pattern
Sodeiis ol L132M3 Part Number Thickness t Weight
5 MSP-4005 MSP-4005 [mm] [kg]
10 MSP-4010A MSP-4010B L ! 0.004
MSP-4002 2 0.009
15 Upper MSP-4005 MSP-4005 Sy
Lower MSP-4010A MSP-4010B MSP-4003 3 0.01
Upper MSP-4010 MSP-4010A v
20 | Lower MSP-4010A MSP-4010B MSP-4005 5 0.02
25 | Loher | MSP-401a MSp-40158 oo 0 0.04
ower - -
30 Upper MSP-4010 MSP-4010A SEEE 10 0.04
o= Lower MSP-4020A MSP-4020B MSP-4015A 15 0.06
Q Upper MSP-4010 MSP-4010A
Z| 55 | Lower MSP-4025A MSP-40258 MSP-40158 15 0.06
g 40 Upper MSP-4010 MSP-4010A MSP-4020A 20 0.09
= Lower MSP-4030A MSP-4030B
. Upper MSP-4015 MSP-4015A e 20 0.09
Lower MSP-4030A MSP-4030B MSP-4025A 25 0.11
Upper MSP-4020 MSP-4020A
50 | Lower MSP-4030A MSP-4030B MSP-40258 25 011
55 Upper MSP-4025 MSP-4025A MSP-4030A 30 0.13
Lower MSP-4030A MSP-4030B
60 Upper MSP-4030 MSP-4030A MSP-40308 30 013
Lower MSP-4030A MSP-4030B
Upper MSP-4030 MSP-4030A
65 Middle MSP-4005 MSP-4005
Lower MSP-4030A MSP-4030B

D038



Aluminum Spacers (60 x 60 mm)

MSP-60

B8 W6036

Spacers for 60 x 60 mm positioning stages.

® These spacers allow users to increase the height

. Application
(thickness) of stages. Systems
@® Various thicknesses are available in 1mm increments.
Optics &
: Optical
§ Guide Coatings
» Custom sizes not listed in the catalog can be purchased.
Contact our Sales Division for more information. Opto- 5
Mechanics
[l Bases
2D| 18D
CAD||(CAD Manual
Stages
Outline Drawing
Actuat
MSP-60 MSP-60% %A MSP-60+ % B e
E n:iggggg: 222&3 Esgg ggg :g;:w mﬂij :gﬁzxz gggg; H Hexagonal socket head cap screw M4x10...4 screws E Hexagonal socket head cap screw M4x10...4 screws
Hexagonal socket head cap screw M4x16...4 screws (6005) .
60 60 . 60 . Motoeized
25 25 045 25 25 4Ma e 25 25 ey Stages
32 ot 32 depth 10 J_ 5.5 32
4-M3 - Light Sources &
& o |4 t Gpmefo | © | ¢ © o I Safety
& - e o o - ° c o
« Y 4xM4 «
o ol 8 @8 En=N depth 10 o ol 8 A
O &} 3 O o | 0 O+——=—18 Index
o Q 1l $ ¢ o depth 6 \$ o Q
oo ‘o I o @ o = © ¢
4-¢ 4.5 mounting hole 4-¢ 4.5 mounting hole
4-03.5 8 counterbore ¢ 8 counterbore Guide
Combination Example (Height: 57mm) Vibration
MSP-60:% % C
E Hexagon socket head cap screw M3x10...4 screws "IZSmm Optical Tables
_YMSP-6025C
60
25 25 1 I | Fosmm B::'.:’gg,':fs’
32 8-M4 depth 10 5.5 I F 2mm ,Imsp-sozsc
1SP-e00 L Optical Bases
| i 25mm
- o —_— {2mm ,,tMSP-SDzsA
@ @ © Faomm “§ MSP-6002 Posts
& lmsp-aoao;\ )
mm
o ) S 3 ,,[mm k MSP-6002 Brackets
o K MSP-6030B |
® & = | Adapters
- 301
Q O @ lMS"l“‘r-T‘SDGOC
— o Tools
4-¢ 3.5 mounting hole
@6 counterbore
Mounting Surface Pattern T !
PC.D.50M4 | []50M4 C32M3 s '”'Sh' - "'d
5 MSP-6005 | MSP-6005 | MSP-6005 Part Number il kol
10 MSP-6010A MSP-6010B MSP-6010C MSP-6001 1 0.01
Upper MSP-6005 MSP-6005 MSP-6005
1S | Lower | MSP-6010A | MSP-60108 | MSP-6010C MSP-6002 2 0.02
o0 | Upper | MSP-6010C MSP-6010C MSP-6010A MSP-6003 3 0.03
Lower | MSP-6010A MSP-60108 MSP-6010C MSP-6005 5 0.05
Upper MSP-6010C MSP-6010C MSP-6010A -
25 | Lower | MSP-6015A | MSP-6015B | MSP-6015C mz:: 23: gg :g g'lg
30 Upper MSP-6010C MSP-6010C MSP-6010A . .
Lower MSP-6020A MSP-6020B MSP-6020C MSP-6010C 10 0.10
% 35 Upper MSP-6010C MSP-6010C MSP-6010A MSP-6015A 15 0.15
oper | WiSF 80100 | MSP-o0ro | VisF-gotoa MSP-60158 e
= pper - - N
3| “O | Lower | MSP-6030A | MSP-60308 | MSP-6030C MSP-6015C 15 015
=| 45 | Upper | MSP-6015C | MSP-6015C | MSP-6015A MSP-6020A 20 0.19
Lower MSP-6030A MSP-6030B MSP-6030C MSP-6020B 20 0.19
o | e hereme | v | hwams | eeeome -
Wi » - R
55 Upper MSP-6025C MSP-6025C MSP-6025A e 25 0.24
Lower | MSP-6030A MSP-6030B MSP-6030C MSP-6025B 25 0.24
60 Upper MSP-6030C MSP-6030C MSP-6030A MSP-6025C 25 0.24
Lower | MSP-6030A | MSP-6030B | MSP-6030C MSP-6030A 30 0.29
Upper MSP-6030C MSP-6030C MSP-6030A v
65 | Middle | MSP-6005 MSP-6005 MSP-6005 MSP-60308 30 0.29
Lower MSP-6030A MSP-6030B MSP-6030C MSP-6030C 30 0.29
WEB http://www.sigma-koki.com/english/ E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550 D039




Application
Systems

Optics &
Optical
Coatings

Opto-
Mechanics

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets
Adapters

Tools

D040

Adjustable Adapter Kits | sp/uP

B8 W6037

Outline Drawing

UP-1216

E Hexagon socket head cap screw
M6x18...4 screws, M4x16...4 screws

1_50 (pitch 25x7 holez)

SP-124-1 E Hexagonal socket head cap screw M4x6...4 screws

60

i

25

A+14

050 4- ¢ 4.5 mounting hole

Aluminum baseplates used to adjust the optical height of components.

® Made up of two aluminum plates and four stainless steel
posts (finish: none).

® Posts are available in 1mm increments between
11mm and 100mm.

® The SP-124 is compatible with post holders and
60x60mm positioning stages.

® The UP can be directly secured on an optical breadboard.

fl Guide

P Make sure to specify the post length A (A=11mm or longer) at the
time of ordering.

P Custom Posts up to 300 mm and with different finishes are
available. Contact our Sales Division for more information.Use the
Question Sheet for Height Alignment Platform.

[ ) WEB Refernce We037

 Attention

P Posted weight does not include the struts.

~
n
<
i

o -
Y

-

100
120

b ¢ @
P ® o

e

-

(pitch 25x5 holes)

A+20

SP-124-2 [ Hexagonal socket head cap screw Mdx®...4 screws 2D||I8D
o CAD||cAD
25 25
32
e 20 8-M4
o | | ©
@1» 0@ ©
P + N o* of
& fJ o 8L 8 g
92" 49 §
yf © \-©
4-M3 / 4-M2
M16 P
~
<
912 < kn
<
L‘JJ [ L] ~
of
4-¢ 4.5 mounting hole
¢ 8 counterbore PCD ¢ 50
UP-2030
Hexagon socket head cap screw E Hexagon socket head cap screw
M6x18...4 screws, M4x16...4 screws M6x18...4 screws, M4x16...4 screws
300
250 (pitch 25x11 holes) 69-M4
30 | 47-M4
250 (pitch 25x11 holes) ﬁ Te...1...0l _
. . EEICRE — e e e 0 .o.c/ 2
@® 8 2
® ® & o o o S . o 0 . * e o o 0 ~
o] o FIR-]
o5 N AR=]
— =| N
® o o o o = o o o . o o o o o =
® 2 3l
IR ) = e e o @ o * @ o o o >
3
o » e o o * o o R
N
o
20 < g : —+
< (=]
- = s
<
250 2 = ‘ ; ——
200 8-¢7 )
e 8-¢7 100 -
o

. @ 250
A - D O
o Lt -
2 o2

o A Plate material: Aluminum

Specifications Plate Finish: Black Anodized
Strut Length Weight

Part Number [mm] kgl

SP-124-1 12=A=100 0.12

SP-124-2 *101mm or longer will be quoted separately. 0.12

UP-1216 0.99
11=A=100

UP-1230 *101mm or longer will be quoted separately. 189

UP-2030 3.18




Adapter Plate Selection Guide |

A variety of adapter plates are available to make it easier to combine stages that do not have

matching mounting holes.

® The following table can be used to determine the appropriate adapter for combining stages with hole patterns selected
from the left column and the top row.

l Guide

» Custom shapes or sizes not listed in the catalog can be purchased.

P Send us rough illustration by FAX or mail, or contact our Sales

Division.

Example of Combinations

leed Lens Holders LHF-25

M6p1 Adapter Plate SP- 122

Selection

X Axis Steel Extevded Contact
Translation Stages TSD-601S

Adapter Plater SP-129/

Rotation Stages KSP-606M

!

Mounting hole pattern and screw shape of products to be mounted on upper surface

P.C.D.50M4

M16 [181.756-32UNC (1508 1/4-20UNC M6
M16 | Ci2om2| KA [(13oM3 | [ 140M3 | [150M4 | "5 00 (150M6 | SUTECR | [170M4 | [JooM4 | [T1oom4 | M6
a Fasten 25x25 Fasten 40x40 | Fasten 50x50 | Fasten 60x60 Fasten 65x65 Fasten 80x80 | Fasten 100x100 | Fasten 120x120
fastening posts, 2 2 (For INCH) P P—" . . stages, etc. (For INCH) P— . " e Fasten miror holders,
postholders,efc. | Stages, etC. | giages efc. stages, etc. stages, etc. iges, etc. KSP-786¢lc) stages, etc. stages, etc. stages, etc. tages, efc. ages, etC. | g o pace of posts.
[132m3
40x40 stage, efc. SP-132 | SP-132 SP-132 | SP-132 | SP-132
upper surface screw pattern
P.C.D.32M3 | gp-129 | SP-129 SP-129 | SP-129
ot o e eatorn| SP-132 | SP-132 SP29 | gp.1gp | sp-tap | SP192
50M4 . ;
oaOMA4. gg 1;; SP-133 SP-133 | SP-133 gﬁ};; SP-102-1 | SP-102-2 | SP-102-3 | SP-122
- upper surface screw pattern - -
QO
=z P.C.D.50M4 SP-103 SP-103 SP-103
Ne)
60 rotary stage, etc. SP-129 SP-129
2 o o SP-129 SP-129 SP-129
T o
Slscomeae] [
= )x: -or stage, etc.
8 28 uppersurfacescrewgattern SP-401UU
= | >
2 | & | PD.C31.756-32UNC SP-401EE
S | | 940 (INCH)rotary stage, etc. SP-401UU | SP-401EE
O | @ | upper surface screw pattern SP-401UU
@
3 [150M6
< 6565 stage, elc. SP-402EE | SP-402UU | SP-402EE SP-402EE | SP-402UU
g upper surface screw pattern
o P.C.D.50M6
5 $65/990 rotary stage, etc. SP-402EE | SP-402UU | SP-402EE SP-402EE | SP-402UU
g upper surface screw pattern
3 [150.8 1/4-20UNC
) 65x65 (For INCHstage, efc. SP-402EE | SP-402UU | SP-402EE SP-402EE | SP-402UU
E] upper surface screw pattern
(0]
Q PD.C.50.8 1/4-20UNC
o 9651080 oty sage (For INCH et SP-402EE | SP-402UU | SP-402EE SP-402EE | SP-402UU
2 upper surface screw pattern
§ MB-CB-CB | SP-130 | SP-130 SP-130 | SP-130 | SP-130 | SP-130
3 SP-123
e SP-129 SP-123 | SP-123 | SP-123
g|g| PCD3OM3 | o ;5 | SP129 SP-129 | sP-129 | sp-tag | SP192
o |8 SP-132
ol
o) SP-109-1
= | TAR-34***
2| TAR.agwp | SP-1092 SP-131 | SP-131 | SP-131 | SP-131
g SP-131
T | TAR-34403L . g . g y
% | TAR-34gosL | SP13! SP-131 | SP-131 | SP-131 | SP-131
SP-127-1 | SP-127-1
- * = & & o
TAS-2060 or-13a | SP-134 SP-134 | SP-134 | SP-134 | SP-134

WEB http://www.sigma-koki.com/english/

E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550

Application
Systems

Optics &
Optical
Coatings

Opto-
Mechanics

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

-ation
Isolation Systems
Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets

Adapters

Tools

D041




Adapters | SP

50x50mm Adapter Plates | SP-102 BB W6058
Applicati . .
ssgt:::sm" @ Mounting hole converting adapter for | Connection Example |

stages.

g ERIEE)
Optics & SP-102 | 80x80 stage (M4 70x70) ]

Optical E Hexagonal socket head screw M4x6...4 screws
Coatings (common to 3 types) v
A | SP-102-1 |
B
0'“0- o 50 4-M4 through hole A
Mechanics | M4 50x50 ]
o | | ¢t o _________
© ©
Bases [ | | 100x100 stage (M4 90x90) |
3| of < v
Manual o Q | SP-102-2 |
Stages " o v
4-¢ 4.5 mounting hole l M4 50x50 ‘
Actuators & e e Primary material: Aluminum ¢8counterbore
Adjusters Finish: Black Anodized ot
i ‘ ‘ ‘ 120x120 st M4 100x1
Part Number W[ilg]ht N l 0x120 stage (M4 100x100) ‘
v
Motoeized Part Number A (mm) B (mm)
Stages SP-102-1 0.12 SP-102-1 80 70 | SP-102-3 |
SP-102-2 0.18 SP-102-2 100 ) v
Light Sources & SP-102-3 0.27 SP-102-3 120 100 l M4 50x50 |
Laser Safety

Index
Top Plates for KSP/KSPA | SP-103 BR W6059
cuide ® Mounting hole-converting adapter for 6 | Gonnection Example |

axis rotation stages.

o EEIEE
Hooration Systems SP-103 25x25 stage (M2 20x20)

E Hexagonal socket head cap screw

) M4x6...4 screws 40x40 stage (M3 32x32)
Optical Tables
60 60x60 stage (M4 50x50)
50
DAk Boney 32 v
; 20 4-M4 through hole | SP-103 |
Optical Bases r~ ‘ v
posts J [ KSP/KSPA (M4 ¢50) |
R - R
Brackets . ,\\i
e d
Adapters ; i 4- i -M3 through holl
ee - Primary material: Aluminum 4.5 mounting hole 4 rough hole
oo Specifications Finish: Black Anodized 8 counterbore 4-M2 through hole
00ls .
Part Number W[i'g]ht
SP-103 0.06

Bottom Plates for KSP-786M | SP-104 B8 W6060

® Allows the KSP-786M to connect to a M4 Outline Drawing | Connection Example |
breadboar.
SP-104 | KSP-786M |

E Hexagonal socket head cap screw

M4x6...4 screws v
" | SP-104 |
50 v
’.L.‘ MB-CB-PB
@ @r— 60x60 stage (M4 50x50)
4-M3 through hole o °
PCD¢ 42
3 8
o

w 7
m 8-¢ 4.5 mounting hole

material: Aluminum

Specifications Finish: Black Anodized

Part Number V"[ight R ———
o

SP-104 0.06

D042




Top Plates for TAR | SP-109

Outline Drawing |
=o|[eo [ Post h
CAD||CAD |

® Allows for Post Holders with
M16P1 threads to be used on
top of rack and pinion stages.

® Mounting hole converting
adapter for rotation stages
(KSPA-806M and 1006 MH).

WEB http://www.sigma-koki.com/english/

SP-109-1/2

B8 W6061

Connection Example |

older etc. (M16 P1) | [ Post holder etc. (M16 P1) |
v v

D [iaoa orduthoad cap screw sl __Jjl__calon ]
v v
4’2 TAR-34601 TAR-34801
F—T TAR-38601D TAR-34141
«@ -~ «@ TAR-34602 TAR-38801D
) Eg TAR-38141D
TAR-34802
M16 P1 through hole, 4-¢ 4.5 mounting hole
¢8 counterbore £ 7 Primary material: Aluminum
— Specifications Finish: Black Anodized
‘ o Part Number W[iig]ht
Part Number A (mm) 9
SP109-1 po SP-109-1 0.03
SP-109-2 80 SP-109-2 0.04

Conversion Plate | SP-113N

Allows attachment of a M16 female

pole (PO) to [ 140

x 40 mm stages.

@ Can attach a AIS-40B tilt stage, SHA-40

sample holder ,or a

MPH-B polarizer

holder to the [ ]40x40 mm stage.

Specifications

Primary material: Aluminum
Finish: Black Anodized

Weight
Part Number k]
SP-113N 0.02

Conversion Plate | SP-114N

W6086

Outline Drawing
sP-1130

E Hexagon socket head cap screw
M3x6...4 screws

32 8-M2 through hole
4-$3.5 mounting hole 10

p
$6 counterbore F’“
e
b .
4-M3 through hole M16 P1 through hole

® Allows attachment of a M16 female pole
(PO) to []40x40 mm stages and rotation

stages .

@ Can attach the []40x40 mm metric
stages, SHA-25 sample holders or MPH-
B polarizer holders to the rotation stages
(KSP-406, KSW-406).

Specifications

Primary material: Aluminum
Finish: Black Anodized

Weight
Part Number kal
SP-114N 0.02

SP-117

Bottom Plates for KSPA 806M, 1006M | SP-117

2D||8®
CAD||CAD

E Hexagonal socket head cap screw

M4x6...4 screws

4-M4 through hole

M16 P1
through hole

W6087

Outline Drawing
sP-11an
40

E Hexagon socket head cap screw
32 8-M2 through hole

M3x6...4 screws
1010, |/ 4-M3 through hole .7

32
30
+
10[10
32
40
.ﬁf

30 M16 P1 through hole

Specifications

BB W6063

| Connection Example |

Post holder etc. (M16 P1)
KSPA-806M, 1006MH
v
| SP-117 |
v
[ M4 50x50 |

Primary material: Aluminum
Finish: Black Anodized

4-¢ 4.5 mounting hole Part Number Wiight
¢ 8 counterbore [kg]
SP-117 0.06

o

E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550

Application
Systems

Optics &

Optical

Coatings

Opto-

Mechanics
[l Bases

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets
Adapters

Tools

D043




Application
Systems

Optics &
Optical
Coatings
Opto-
Mechanics
Bases [ |

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets
Adapters

Tools

D044

Adapters | SP

M16 P1/M6 P1 Adapter Nuts | SP-121

SP-121-1

4-¢3 depth 5
Every 90°

® Converts Female M16P1 threads to male or
female M6P1 threads on post holders.

ine Drawing

SP-121-1 |

_ ! 2D||3SD
@ SP-121-2 "
| %9» ~

M6 P1
$26 through hole

M16 P1

B8 W6065

| Connection Example |

[Main frame of holder etc. (M6 P1 (female)J] l Post (M6 P1 (male)) ]
v v

| SP-121-1 | | SP-121-2 |
v v

[ M16 P1 | [ M16 P1 ]

Primary material: Brass
Finish: Chrome

Specifications

Weight
Part Number kal
SP-121-1 0.04
SP-121-2 0.02

M16 P1/M6 P1 Adapter Nuts | SP-121S

® Converts a male M16P1 thread to a male M6P1

thread.

Outline Drawing

Upper surface CAD||CAD
. M16 P1 depth 5
=i S
4-¢ 4 depth 5 j
Under surface Every 90° »L 0

6 P1

W6066

| Connection Example |

[ Post holder etc. (V16 P1 (male) |
v

| SP-121S |

v
[ Baseplate / optical breadboard etc. (M6 P1 (female)) ]

Primary material: Aluminum
Finish: Black Anodized

Specifications

Weight
Part Number kal
SP-121S 0.01

M6P1 Adapter Plates | SP-122

W6067

® Mounting adapter allows for parts with a M6P1 female thread to be used onto a M4 50 x50 mm mounting surface.
@ Good for setting a low optical axis.

Outline Drawing
2D|(|8D
E Hexagonal socket head cap screw Mdx10...4 screws

Hexagon socket head cap screw M6x12...1 screw
60

Jl Attention

P Note that holders with protrusions
within the 25 mounting surface may
not be able to be connected.

Top Plates for KSP-406M | SP-123

@ Allows for 40 mm stages to be
mount on top of rotaion stages
KSP-406M.

.5 mounting hole
¢ 8 counterbore

| Connection Example |

[ M6 P1 (female) ]
v

| SP-122 |
v

[ M4 50x50 ]

Primary material: Aluminum
Finish: Black Anodized

Specifications

Weight
Part Number Ikl
SP-122 0.1

Outline Drawing
sp-120

E Countersunk screw M3x8...4 screws
40
32

2

4-M3 through hole

ra T
o4

® ol oo o

Y hd N ™

o

/o e
4-M2 "\ 4-¢3.5 mounting hole ¢6 countersink
through hole PCD¢ 30

i

[t}

3.5

B8 W6068

| Connection Example |

25x25 stage (M2 20x20)

40x40 stage (M3 32x32)
v
SP-123 |
v
KSP-406M

KSP-406MR

Primary material: Aluminum
Finish: Black Anodized

Specifications

Weight
Part Number kal
SP-123 0.02




Top Plate Adapters for TAS-2060 | SP-127-1

Outline Drawing
M16P1 post holders to be
mounted on top of TAS-20601 SP-127-1

and 20602. E Hexagonal socket head cap screw
M4x6...4 screws

® Allows for 25 mm stages and

50
20
T T
+ L+
of - %—% ]l 8
MY
4-¢ 4.5 mounting hole

4-M2 through hole

¢ 8 counterbore M16 P1 through hole

AR B

! «~

B8 W6069

Adapter Plates | SP-129

Outline Drawing
20||8D
CAD||CAD

® Allows stages and post holders
to be mounted onto KSP-406
and other stages (see chart).

SP-129

[Reference ) I BJOL Y Hexagon socket head cap screw
M3x6...4 screws
60
50
4-M2 through hole 20 8:M3through hole
gg 4-M4 through hole
MI6 P through hole [ @ ] =
ARITAUNROE | o -
h's N
e S R EECERES
<+ 4 -+
o° o
30 4-¢ 4.5 mounting hole
32 98

Adapter Plates | SP-130

Outline Drawing
2D|([3D
sP-130

E Hexagonal socket head cap screw
M4x6...4 screws

® Allows stages and post holders
to be mounted onto MB-PB-
CB magnet base family parts.

50
40

8-M4 through hole
8-M3 through hole

5©0)
D)

4-M2 throughhole | =9

° o
|
(Dol 5233
M16 P1 through hole /:\J -
3
B o &
34 4-¢ 4.5 mounting hole

¢ 8 counterbore

Adapter Plates | SP-131

Outline Drawing
to be mounted on top of rack
and pinion stages (see chart). SP-131

[Reference )| D041 E Hexagonal socket head cap screw
Hexagon socket head cap screw M3x6...4 screws
60

® Allows stages and post holders

M4x6...4 screws

40 8-Md through hole
32 M16P1 through hole

8-M3 through hole

40
14
F_‘
o- |
}i
©
32
40
50
60
R AR —

4-¢3.5 mounting hole L%J

$6 counterbore

4-¢4.5 mounting hole 2
$8 counterbore

WEB http://www.sigma-koki.com/english/

Application
| Connection Example | Systems
[ Post holder etc. (M16 P1) | Optics &
[ 25x25 stage (M2 20x20) | Optical
v Coatings
| SP-127-1 |
4 Opto
[ TAS-20601 | o
[ TAS-20602 | HchaRc
S ificati Primary material: Aluminum
pecitications Finish: Black Anodized M Bases
Weight
Part Number k]
SP-127-1 0.04 Manual
Stages
Actuators &
Adjusters
E8W6071 i
- Motoeized
Connection Example | Stages
Post holder etc. (M16 P1)
25x25 stage (M2 20x20) H
40x40 stage (M3 32x32) Il:ghetrssgl#er%es &
60x60 stage (M4 50x50)
v
SP-129
v Index
KSP-406 (M3 $30)
40x40 stage (M3 ¢32)
60x60 stage (M4 ¢50)
S ification Primary material: Aluminum
pecitications Finish: Black Anodized Guide
Weight
Part Number [kg] Vibration
SP-129 0.06
Optical Tables
Darkrooms/
Dark Boxes
Catal
W6072 Optical Bases
. Posts
Connection Example |
Post holder etc. (M16 P1) Brackets
25x25 stage (M2 20x20)
40x40 stage (M3 32x32) Adapters
60x60 stage (M4 50x50)
v Tools
[ SP-130 |
v
[ MB-PB-CB |
S ificati Primary material: Aluminum
pecitications Finish: Black Anodized
Weight
Part Number Ikl
SP-130 0.06
W6073
| Connection Example |
Post holder etc. (M16 P1)
40x40 stage (M3 32x32)
60x60 stage (M4 50x50)
v
| SP-131 ]
v
[ TAR-34403L (M3 14x24) |
[ TAR-34/38 (M4 20x40) |
) - Primary material: Aluminum
Specifications Finish: Black Anodized
Weight
Part Number Ikl
SP-131 0.06
D045

E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550




Application
Systems

Optics &
Optical
Coatings
Opto-
Mechanics
Bases [ |

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets
Adapters

Tools

D046

Adapters | SP

Adapter Plates | SP-132
® Allows stages and post holders

to be mounted on top of

KSP-406 and 40 mm stages SP-132 2p)[so
(See chart). E Hexagon socket head cap screw
M3x6...4
Roferonce) I BIVER] 6.4 sorews.
4-M2 50
through hole 40 4-M3 through hole
4-¢35 8-\4 through hole
‘mounting hole
96 counterbore |
] -
38 | olalol o o w‘: o
®| & o) 5| o © =
L —1 .

M16P1 through hole

Specifications

BB W6074

Connection Example |

Post holder etc. (M16 P1)
25x25 stage (M2 20x20)
50x50 stage (M3 40x40)
60x60 stage (M4 50x50)
v
| SP-132 |
v

[ KSP-406 (M3 ¢30) |
[ 40x40 stage (M3 32x32) |

Primary material: Aluminum
Finish: Black Anodized

Weight
Part Number k]
SP-132 0.06

Adapter Plates | SP-133
® Allows stages and post holders

to be mounted on top of 60

mm stages (see chart). SP-133

[Reference ) BJOL a Hexagonal socket head cap screw

M4x6...4 screws

&

8-M3 through hole J Rt ‘

4-M2 through hole v/{) o 28232
M6 P1 through hole AR ows
i !

o

6,
4_M4t 4-¢ 4.5 mounting hole

¢ 8 counterbore

Specifications

B8 W6075

Connection Example |

Post holder etc. (M16 P1)
25x25 stage (M2 20x20)
40x40 stage (M3 32x32)
KSPA-806M/1006MH (M4 ¢50)
v

[ SP-133 |
v
[ 60x60 stage (M4 50x50) |

Primary material: Aluminum
Finish: Black Anodized

Part Number V\I[(;.'(igg]ht
SP-133 0.06

Adapter Plates | SP-134

@ Allows stages and post holders
to be mounted on top of TAS-

20601 and 20602 (see chart). SP-134
[Reference Y DL 02N E Hexagonal socket head cap screw
M4x6- - -4 screws

2 25

5
“lao
32

20

8-M4 through hole
8-M3 through hole

ol
‘%¢ + « !
g oD ERE g
* 4 —i e
\4 05 N

&% A7

4-¢4.5 mounting hole/" | 45 M16 P1 through hole
$8 counterbore u

W6076

Connection Example |

Post holder etc. (M16 P1)

25x25 stage (M2 20x20)

40x40 stage (M3 32x32)

60x60 stage (M4 50x50)
v

[ SP-134 |
v

[ TAS-20601 |
[ TAS-20602 |

g - Primary material: Aluminum
Specifications Finish: Black Anodized
Weight
Part Number kgl
SP-134 0.06

Conversion Plate | SP-135

stages to 25x25 mm stages.

Allows attachment of a 15x15 mm

® Can attach GOH-15 goniometers, and
TASB-15 preset dovetail translation stages
to AIS-25B tilt stages, SHA-25 sample
holders and MPH-B polarizer holders.

e - Primary material: Aluminum
Specifications Finish: Black Anodized
Part Number W[iig]ht
SP-135 0.01

W6088

Outline Drawing
sp-135

E Pan head screw M2x4...4 screws

4-¢2.4 mounting hole 20 _ 8-M2 through hole

$4 counterbore
I.O!ii‘ 10 8
. L
¥ it ]

f
7]
M6 P1 through hole _ESL

[t}
39




Conversion Plate | SP-401

Conversion Plate | SP-201

Allows attachment of a TSD-25501S

to 40x40

mm stages.

® Can attach to ¢60 mm rotation stages
(KSP-606, KSPT-606) and ¢40 mm rota-
tion stages (KSP-406, KSPT-406).

I - Primary material: Aluminum
Specifications Finish: Black Anodized
Weight
Part Number kgl
SP-201 0.03

Conversion Plate | SP-301

B8 W6089

Outline Drawing
2D|(3D
sp-201

E Hexagon socket head cap screw M2x4...4 screws
Hexagon socket head cap screw M3x6...4 screws

50

4-$3.5 mounting hole
$6 counterbore

4-¢2.4 mounting hole
$4 counterbore

32

. ]
s8-{@ 0| s g o
+ € °§F 5@

Allows attachment of a TSD-40801

to 60x60

mm and 40x40 mm stages.

® Can attach GOH-15 goniometers, and
TASB-15 preset dovetail translation stages
to AIS-25B two axis tilt stages, SHA-25
sample holders and MPH-B polarizer
holders.

- - Primary material: Aluminum
Specifications Finish: Black Anodized
Part Number W[iig]ht

SP-301 0.08

W6090

Outline Drawing
SP-301 CAD|[(CAD

E Hexagon socket head cap screw M3x6...4 screws
Hexagon socket head cap screw M4x6...4 screws

25 25 4-¢3.5 mounting hole 7

8-¢4.5 mounting hole
8 counterbore

5 | 0o 00 |4

60
32

B8 W6096

Adapter Plates are useful for bolting two different size stages together. Black anodize aluminum.

@ Nested hole patterns for mounting small stages on top of larger stages.
@ Can also be used to mount metric stages on inch stages or inch stages on metric stages.

Outline Drawing

e - Primary material: Aluminum
Specifications Finish: Black Anodized
Weight
Part Number kgl
SP-401EE 0.025
SP-401UU 0.025

WEB http://www.sigma-koki.com/english/

SP-401EE
E Hexagon socket head cap screw
(stainless steel construction) 6-32UNCx4/4...4 screws

32
4-M3 1010
8-M2
+ % &
ol 9 — @
F| ® o 5
L e e\
2l
4-93.8 mounting hole 31.8 |\ M4

$7.1 counterbore

SP-401UU

2D)||38D
CAD||CAD
E Hexagon socket head cap screw

(stainless steel construction) 6-32UNCx4/4...4 screws
40

31.75 6.3
4-6-32UNC 1010 2.8
8-M2
. ¥ & lL
o el @ u
Sielel [T, NP Ll
&l sig
4-¢3.8 mounting hole 31.8 |\ 8-32UNC

7.1 counterbore

| Connection Example |

| Connection Example |

25x25 stage (M2 20x20) 25x25 stage (M2 20x20)
40x40 stage 40x40 stage KSP-256
(M3 32x32) (6-32UNC 31.75x31.75) KSP-406M  |[  KSP-406MUU
v v v v
[ sP-401EE || SP-401UU | [ SP-401EE__ |[  sP-401UU |
v v v v

[ KSP-406MUU (6-32UNC ¢31.75) |

[ 40x40 stage (6-32UNC 31.75x31.75) |

E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550

Application
Systems

Optics &

Optical

Coatings

Opto-

Mechanics
[l Bases

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide
Vibration

Isolation Systems

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets
Adapters

Tools

D047




Application
Systems

Optics &
Optical
Coatings
Opto-
Mechanics
Bases [ |

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems
Optical Tables
Darkrooms/
Dark Boxes

Optical Bases

Posts

Tools

Brackets

Adapters

D048

Adapters | sp/Bsp

Conversion Plate | SP-402

Adapter Plates are useful for bolting two different
size stages together. Black anodize aluminum.

@ Nested hole patterns for mounting small
stages on top of larger stages.

® Can also be used to mount metric stages on
inch stages or inch stages on metric stages.

g - Primary material: Aluminum
Specifications Finish: Black Anodized
Weight
Part Number kgl
SP-402EE 0.1
SP-402UU 0.1

&8 W6097

SP-402EE SP-402UU 2D |SD
E Hexagon socket head cap screw E Hexagon socket head cap screw
(stainless steel construction) M6x6...4 screws (stainless steel construction) 1/4-20UNCx1/4...4 screws
65 65
25 25
IR 8-M2 10 254 254 10
8-M3 10[10 5-M8 8-6-32UNC (59115.9 5-1/4-20UNC ﬁ
60 2 o O 3
.E N4 Qﬂ ‘ N4 .g
0 /» 5 < ® ¢ s
SRle ) <2 8 e rX\. PN !
R R SuC ] 8@ 003 F
& PR N E i o s o -
o g 5y ©—o g
8 S
4-¢7 mounting hole 50.4 4-¢7 mounting hole -1 50.4

¢11 counterbore ¢11 counterbore

| Connection Example | | Connection Example |

25x25 stage (M2 20x20) 40x40 stage ’ 40x40 stage
40x40 stage 40x40 stage (M3 32x32) (6-32UNC 31.75x31.75)
(M3 32x32) (6-32UNC 31.75x31.75) KSP-256
65x65 stage 65%65 stage KSP-406M [ KSP-406MUU |
(M6 50x50) (1/4-20UNC 50.8x50.8) KSP-656M-ME/KSPB-006M-M6 | | KSP-656MUU/KSPB-906MUU |
v v v v
[ SP-402EE [ sp-402uu | | SP-402EE |[ sp-402uu |
v v v v
[ KSP-656M-M6/KSPB-906M-M6 (M6 $50) | | 65x65 stage (M6 50x50) |

| KSP-656MUU/KSPB-906MUU (1/4-20UNC $50.8) | | 65x65 stage (1/4-20UNC 50.8x50.8) |

Baseplate | BSP-1016N

Base plate allows long travel X-axis stages (TSD-10161,
TSD-60121, TSD-60161SDM, TAM-10161, TAM-60161SDM,
etc.) to be attached to the OBC-M6 breadboards or M6
laboratory benches. It can also be used for a XY assembly.

@® Can attach the 100x100mm stages (TSD-100, TAM-100,

etc.) to the OBC-M4 base plates.

Baseplate | BSP-1020N

Base plate allow the X-axis long travel aluminum cross
roller stage (TAM-10201SDM, TAMC-10201) to be attached
to the OBC-M6 beadboards (OBC-M6) and M6 laboratory

benches. . It can also be used for XY assembly

@ Can attach 100 x100mm stages (TSD-100, TAM-100, etc. to

OBC-M4 base plates (OBC-M4).

B8 W6091

Primary material: Aluminum
Finish: Black Anodized

Specifications

Weight
Part Number kol
BSP-1016N 0.4
Outline Drawing

BSP-1016N

E Hexagon socket head cap screw M4x10...4 screws

2D||8D
CAD||CAD
Hexagon socket head cap screw M6x10...4 screws

6-¢7 mounting hole
®11 counterbore
12-¢4.5 mounting hole 100 10

W 8-M4 through hole 3
E @\? © €?n °

N
s[@ww%@
s O O

. ©

100
90

@
N @_F
37.5_| 375

{@

@
=}

W6092

Primary material: Aluminum

Specifications Finish: Black Anodized

Weight
Part Number kol
BSP-1020N 0.5
Outline Drawing
BSP-1020N

2D|(|3D
CAD||CAD
Hexagon socket head cap screw M6x10...4 screws

8-¢7 mounting hole
$11 counterbore

E Hexagon socket head cap screw M4x10...4 screws

8-94.5 mounting hole 125
8 counterbore T} 8-M4 through hole 3
e < ‘F_. [ * @/ K =!I
@@\ o @m ©
gs ol ol 8o
- ﬁ[ E 45
© © o o' © g
L%, ° 7% e° E




B8 W6057

L Angle Brackets | LBR

Attach a L bracket to the vertical face of the Z-axis, XZ-axis, or XYZ-axis stage to provide a hori-
zontal mounting surface.

[l Attention

P These brackets may reduce travel distance or interfere with other
stages. Confirm the dimensions before purchasing.

2D||8SD
CAD||(CAD
li rawing
LBR-2535 LBR-3440 LBR-4053
E Pan head screw M2x8...4 screws H Pan head screw M3x6...4 screws H Pan head screw M3x8...4 screws
. 30 56
16_16_16_ | 4
18 _| 6-M3
101010,| 2.5 M16 P1 through hole ‘ _‘
52 through hole o
- F+ + 9
depth 5 o ol v \Y\ < (M INE=)
. o o kJ Lol J o <
/s &
M6 P1 e /4«
through hole 22.5
m:g’umh h 36 2-M3 depth 4
" gh hole N
4-¢2.5 4-¢3.4 mounting hole 035
| =20 mounting hole ‘ 24 _ 6.5 counterbore ‘ FL, m:: rmihg s
;
I *—
=l G S 4 el o |
o[ 3 e s
N & G | -© o
- o | o 8 8
s m.[ 1
= o 1.7 - lo- 6
s s -
LBR-6075/6085 LBR-6080/6092
E Hexagonal socket headcap screw M4x12...4 screws E Hexagonal socket headcap screw M4x12...4 screws
84 84
A A
10-M4 depth 8 25 25 25 4 Part Number () 10-M4 depth 8 25 25 25 4 Part Number (i)
LBR-6075 75 LBR-6080 80
> 9 O - o O
©w LBR-6085 85 I LBR-6092 98
o Y
6 (D& ° s (D6 R ™
A4 J A d © hd ' hd ©
w el
o o
o/ o & & B/ o o ¥
M16 P1 54 M16 P1 54
through hole s 4-94.5 through hole 4-¢4.5
mounting hole r@. mounting hole
; ; ; ; ; ; ; ;
[ \ [ \
T T T T T T
© = & o4 ©
e + o
n
o
<
4= o
= & o + o0
8 0

Specifications Finan Biack Ancded
Part Number W[ig]ht

LBR-2535 0.02

LBR-3440 0.03

LBR-4053 0.05

LBR-6075 0.18

LBR-6080 0.19

LBR-6085 0.19

LBR-6092 0.21

WEB http://www.sigma-koki.com/english/ E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550

Application
Systems

Optics &

Optical

Coatings

Opto-

Mechanics
[l Bases

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets
Adapters

Tools

D049




A L Angle Brackets | TsD-LB

BRW7133

-
L angle brackets for the TSD-L series.
Application J Attention
S P There are load capacity limits. Please contact Sales Division for
Optics & more information.
Optical
Coatings
Opto-
Mechanics
Bases [ |
Example (Stage are not included) 2D||sD
Manual CAD||CAD
Stages
(0] e Drawing
Actuators &
Adjusters TSD-253LB TSD-403LB-M6/403LBUU
E Hexagon socket head cap screw (stainless steel construction) M2x6...4 screws E ::ﬁ:ggz:: :ggt:: E::g g:g :gzx gg;gNéf;:;Zwi(g:zws wu)
Motoeized ‘ f :rTTSg 3-C depth 6
Stages @,J ; LQE @Dwg’ 4-M2 through hole
mr OO
2 A N <
Light Sources & = sl Hre %!
La sa 3 } K1 g j
St M4 through hole /| 20 4-M2 through hole 1 le"s K
D through hole Lgo 5-C through hole
Al A
Index 25 25
(T 20 e T
i R i |
L - ~.
SR S| i g 4T
Guide < i T < 7
ooy \4-02:4 el ‘
Vibeation ®4 counterbore 6.1 [ I aoF
Isolation Systems F=——=5 4G counterbore
Optical Tables A B E F G
P! Part Number mm) | (mm) C D mm) | mm) | mm)
Darkrooms/ TSD-403LB-M6 16 32 M3 M6 P1 28 35 6
Dark Boxes
TSD-403LBUU 15.88 | 31.75 | 6-32UNC | 1/4-20UNC | 27.98 | 4 6.5
Optical Bases
TSD-603LB TSD-653LB-M6/653LBUU
Posts

ﬂ Hexagonal socket head cap screw M4x10...4 screws

Hexagonal socket head cap screw M6x8...4 screws (M6

D050

Hexagonal socket head cap screw (stainless steel construction) 1/4-20UNCx5/16...4 screws (UU)
Brackets 4 3 CHERES
e Jig s (O sgmmmge_ ] 3-0deptn 7
Adapters | = &
o o ¢
Tools =) . & <
N U * b o ~ o-¢ °n
? hd © e 03
RS E RS L
o
s o e 0310 1.
4-M2 depth 4 |20 5-M4 through hole JM2 dopth 4 [ 20 6-D through hole
Both sides 32 4-M3 through hole Both sides Cc 4-E through hole
MeP1/ | 25 | 25 0 A LA 65
60 4.5 65 2.
50
i 0 ™ ‘ o [ 1 o
- g "N . * N
R i | . A
[l 1 =3 - \ L ) 0 i I
7 © - \ mie © [
& . \\\ HQJ i ‘\
\ - Y
= - \
L LI\ 4-04.5 o5l L ) j %U N 95 ’L J\
ml___|___Tm  ¢8ocounterbore EE,,H] L\.J‘rt‘,,,,,,,‘tpi ¢11 counterbore I, JﬁfgL,Lﬂ
A B Cc F
Part Number mm) | (mm) | (mm) D E (mm)
TSD-653LB-M6 25 50 32 M6 P1 M3 45
TSD-653LBUU 25.4 50.8 | 31.75 | 1/4-20UNC | 6-32UNC 45.2
Specifications
Part METRIC TSD-253LB TSD-403LB-M6 TSD-603LB TSD-653LB-M6
Number INCH - TSD-403LBUU - TSD-653LBUU
Primary Material Aluminum
Finish Black anodized
Weight [kg] 0.03 0.05 0.07 0.08




BB W6056

Z Angle Brackets | ZBR

Bracket for mounting an X-axis stage at right angles to the mounting surface.

@ X-axis stages can be mounted vertically and used as a
Z-axis stage.

@ If the X-axis stage is mounted vertically, attach the stage
such that the micrometer head is on the underside.

@ The TSD-SZ series Z-axis stages can be mounted so
that the micrometer head is on the topside.

0 Guide

P The finish on the back of the bracket will be rought due to casting,
but does not impede on the performance.

2D||8SD
CAD|(CAD

ine Drawing

ZBR-2530 ZBR-4055/4055UU ZBR-7050/7090
Pan head screw M2x8...2 screws, Pan head screw M3x10...2 screws, Flat washer (4055) E Hexagonal socket head cap screw M4x12...4 screws
Flat washer Hexagonal socket head cap screw 6-32UNCx3/8...2 screws (4055UU) (common to 2 types)
4B A 4;;'0 o 5 4-Mé through hole 50 4045 7
through hole F—_‘ rough hole —f "through hole
N T - H
4-M2 through hole
20 ) o do— i
I I e R
& o il e ol )
o . e}
“‘ 0 0 ° o o < .
e < o
Q <
@ | |
il i ! \’
~
LQ—J 2-¢2.4 10] A 2:G D 50 4-94.5 15| 25
25 mounting hole 12.5 40 mounting hole | 15| 70 mounting hole 45
A D A B
Part Number (mm) B (mm) (mm) Part Number (mm) (mm)
ZBR-4055 32 M3 $3.5 11 ZBR-7050 50 80
ZBR-4055UU 31.75 | 6-32UNC 4 10.875 ZBR-7090 90 120

ZBR-8060 H Hexagonal socket head cap screw M4x12...4 screws ZBR-100100 B Hexagonal socket head cap screw M4x12...4 screws

90

4-M4 through hole
S Tonan o 50 8
4-¢4.5
\ 7y through hole -
70
8 o o .
4-M4 through hole 50 4-¢4.5
through hole o o N
\ © Lt o o © ©
© k3 | i
o> & o o g 41—
28 |o(Pd . .
/ S o 8
® Fe o o i 4-M4 depth 8
P o © -+
4-M4 depth 8 -
50 15| 25 ® ©
d-pdd 50 15| 25
80 mounting hole 49 4-¢4.5
100 mounting hole 50

Example of Combinations Specifications E&?;ﬁ?Bﬂifﬂﬂ;Q';g‘"“m (except ZBR-2530)

Part Number W[iig]ht
ZBR-2530 0.62
ZBR-4055 0.05
ZBR-4055UU 0.05
ZBR-7050 0.18
ZBR-7090 0.24
ZBR-8060 0.28

TSD-601S + ZBR-7050 ZBR-100100 0.58

* For ZBR-2530, primary material is brass, and finish is black coating.

WEB http://www.sigma-koki.com/english/ E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550

Application
Systems

Optics &

Optical

Coatings

Opto-

Mechanics
[l Bases

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

ibration
Isolation Systems
Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets

Adapters

Tools

D051




Application
Systems

Optics &
Optical
Coatings
Opto-
Mechanics
Bases [ |

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets

Adapters

Tools

D052

Z Angle Brackets | zBR

B8 W6056

2D
CAD

3D
CAD

ZBR-7550EE

H Hexagonal socket head cap screw M6x12...4 screws

ZBR-7550UU
E Hexagonal socket head cap screw 1/4-20UNCx1/2...4 screws

50.8
4-1/4-20UNC 25.4 8-1/4-20UNC .
through hole
c\ o & ror
5 o =2
pidin o (B ay
o v J hd 0
OT o &
o © o8
i
~|
t
50.8 4-97 15| 25.4
75 48
ZBR-7590UU
E Hexagonal socket head cap screw 1/4-20UNCx1/2...4 screws
66
50.8 11
25.4 8-1/4-20UNC 7.
4-¢7
] | O] 0
© ©
OIS R i
© v FIR
oTo
o © ©
b
N
[=3 N
= -
i
~|
i
50.8 15| 25.4
75 407 48

50
25 8-M6 P1 S
through hole
o || & ot
o Lo ¢
ol v o @b oy
o v & J N4 2}
o fo) o
o © o8
i
~|
t
50 N a7 15| 25
75 48
ZBR-7590EE
B Hexagonal socket head cap screw M6x12...4 screws
66 11
50 4-M6 7,
4-97
© O
oot s +
® © o Q
N
[=]
(=2}
{
~|
i
50 15| 25
75 o7 48
ZBR-14080EE
E Hexagonal socket head cap screw M6x12...4 screws
100 8-M6 P1
- 50 through hole ~ —=—=—
© © e
O O 4-97
ﬁ
8l o o 2! oy
= ® R J b4 o
I
8
o © o
i
| | 5
t
100 15| 25
140 N -7 55

ZBR-14080UU

E Hexagonal socket head cap screw 1/4-20UNCx1/2...4 screws

101.6

8-1/4-20UNC
50.8 through hole  —=—t=—
© © 4
) 3 497
Q= A ﬂ e
5 3 ] g J 1] °
<
3
© © &
)
| | s
101.6 15 | 25.4
140 4g7 55

Specifications
Part Number W[i'g]ht

ZBR-7550EE 0.2

ZBR-7550UU 0.2

ZBR-7590EE 0.6

ZBR-7590UU 0.6

ZBR-14080EE 0.3

ZBR-14080UU 0.3




Post Stand Guide |

It is available for a fine-turn to any height, by using a post stand with the lineup of 12.5 - 76.2mm

height and a dedicated spacer.

Pedestal Bases | PST ll Small Pedestal Bases | SPS [l Stand Bases | RCA

<Connection Example>
Holder

Female Screw

CHS:Exclusiv gggxduﬂve
Sorow " M4 or8-320NG
M6 S M4 \’

1/4 & 8-32

Turning hole

Female Screw

<Connection Example>

Holders
M4 R
Female Screw : Supplied Screw
M4
i
Turning hole " M4
S & Female Screw
i ‘ Magnet
<SPT/SPS Usage Example>

- - -

Pedestral
Bases

Stand Clamp : & \ = PST

Pedestral
Clamps

Holder Side | Supplied Screw | "ot Stand
3 CHS-M4-M6-9 M4
M4 SC-M4-18EE M4
4 Small Pedestal
1/4 CHS-1/4-8U-9 8-32UNC Small
8-32 SC-8U-18UU 8-32UNGC

SPS - . -

R R

It is the stand base suitable to the rod
stand (RS, BRS).

It can be freely placed in a limited
space.

<Connection Example>

- . PostHolders

Stand Clamp =
RC -

<Usage Exam'ple>

Small Pedestal Adapters | PS-SP

The spacer for a post stand is used as a height adjustment spacer placed on the post stand.

® Our post stand (PS series) has a lineup at 5 mm intervals.
The PS-SP series can be used to adjust the fine height of

W Spacer for Pedestal spacers (PS-SP series) Combined
use example and Dog Point Set Screws (SC series)
EEEmI D055, D056

0.5-4.5 mm.
PS-SP L Applicable screw |To height screw
BExample of spacer for Pedestal spacers (PS-SP series) Height C‘f,’,",g;?j‘;;°,3:nﬁ';‘;:,‘]"e length (SC) | portion cueing
Height of optical Height of conforming product [mm] [mm] [mm}
axis (Length) [mm] 0.5 PS-0.5SP 17.5 4
" - Part Number
INCH] | [mm] Pedestal | Optical axis of | Spacer for 1 PS-1SP 17.5 3.5
Bases the Holder |podestal bases
- | 30 15 | 12.705inch) | 23 | PS-2.35P 15 | PS0.5SP+PS-1SP 7.5 8
15 | 384 20 15 3.1 PS-3.1SPUU 2 PS-2sP 19.5 4.5
2 50.8 25 25 0.8 PS-0.8SPUU 25 PS-0.5SP+PS-2SP 19.5 4
2.5 63.5 35 25 3.5 PS-3.5SPUU 3 PS-1SP+PS-2SP 19.5 35
3 76.2 35 35 1.2 PS-1.2SPUU
3.5 PS-0.5SP+PS-1SP+PS-2SP 21 4.5
35 | 88.9 45 35 39 | PS-3.9SPUU b *
4 |1016 50 50 1.6 | PS-1.6SPUU 4 | PS28Px2 21 4
45 | 1143 45 65 4.3 PS-4.3SPUU 45 PS-0.5SP+PS-2SPx2 21 35

WEB http://www.sigma-koki.com/english/

E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550

Application
Systems

Optics &

Optical

Coatings

Opto-

Mechanics
[l Bases

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide
Vibration

Isolation Systems

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets
Adapters

Tools

D053




Pedestal

Bases

Pedestal Clamps

PST

PSC/PSCA/PSCS/PSTM

wd
PST W6039
é;’gt'l‘:;“’" Pedestal Bases can be mounted directly on a vibration isolator or laboratory bench using clamps.
They are ideal for flexible positioning of optical units with low optical axis.
Optics &
Optical Outline Drawing
Coatings
PST
0910- . E Dog Point Set Screws SC-M4-18EE...1 screws,
Mechanics M4-M6 Conversion screw CHS-M4-M6-9...1 screws (METRIC)
Dog Point Set Screws SC-8U-18UU...1 screws,
8-32-1/4 Conversion screw CHS-1/4-8U-9...1 screws (INCH)
Bases [ | \
‘; - [METRIC]
Manual \J Ni o ”‘#
Stages Ve
. T $26 B M4
Specifications Frimary matarial: Stainless Steel o | through fole 2 } al®
Ac!uators & Part Number locking hole v < b M4
Adjusters METRIC INCH A Weight H m* Accessory Screw Accessory Screw
[mm] [kal 032 SC-M4-18EE CHS-M4-M6-9
B=M4 B=8-32UNC
g"me'ze“ "PST-125 PST-12.5UU 125 0.065 PST-15/-20 (noH]
tages PST-15 PST-15UU 15 0.07 v B
PST-20 PST-20UU 20 0.08 depth 10 g =B
Light Sources &  PST-25 PST-25UU 25 0.1 ° . -
Laser Safety  PST-25.4 PST-25.4UU 25.4 0.1 .‘!1 i 8-32UNC 1/4-20UNC
~ PST-30 PST-30UU 30 0.12 < o o)
PST-35 PST-35UU 35 0.15 0t el mE ssounc AT o1
Index ~ PST-38.1 PST-38.1UU 38.1 0.16 locking hole it { Accessory Screw Accessory Screw
PST-40 PST-40UU 40 0.17 B L= 'ﬂ SC-8U-18UU CHS-1/4-8U-9
PST-45 PST-45UU 15 0.19 depth | 9%2
- PST-50 PST-50UU 50 0.21 PST-25 -76.2
Guide ~ PST-50.8 PST-50.8UU 50.8 0.21
~ PST-55 PST-55UU 55 0.23
Vibration ~ PST-60 PST-60UU 60 0.25
~ PST-63.5 PST-63.5UU 63.5 0.26
PST-76.2 PST-76.2UU 76.2 0.31

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets
Adapters

Tools

D054

PSC/PSCA/PSCS/PSTM

BB W6040

Clamps for Pedestal Bases (PST) can secure Pedestals freely about a tapped hole on a vibration isolator or laboratory bench.
The PSTM is used to add a pedestal base to standard Post Holders with M16 Threads. This allows the Post Holders to be
freely positioned like a Pedestal.

(Connection example)

Pedestal Clamps
PSTM-12,5-M16

=
|

(s

MPHN-25.4R

Hi

Polarizer Holders

® The PSC-10 product line must be used in pairs, for clamping a Pedestal at two

positions. The PSCA/PSCS is used to clamp a pedestal at a single position.

mall Type)

igh Stability Ball

Plunger Post Holders

Pedestal Clamps
PSCS-11.5

or
PSCA-11.5

RS-12-40

|: Stainless Steel

s = Primary material
Specifications AR ot
Weight locking hole
Part Number A Ikl
PSC-10 M6 P1 0.065
PSC-10UU 1/4-20UNC 0.065

Specifications

Primary material

|: Stainless Steel

PSTM-12.5-M16

$26

M16x1 through hole

® The long slot on the PSCA /PSCS clamps allows for coarse adjustment in the
horizontal direction.
® The clamp is secured with a M6 or 1/4-20UNC screw.

Outline Drawing

PSC-10/10UU

i (o

2D(|3D
PSCA/PSCS
E Hexagon socket head cap screw
(stainless steel construction) M6x12...1 screws (METRIC)

Hexagon socket head cap screw
(stainless steel construction) 1/4-20UNCx1/2...1 screws (INCH)

A
28 B
5
‘\" — 4
1o} ‘v\ T
8¢ (@ ) ~| ﬁI
/" T
! !
] — \ [ -
il [ st
] T T
©0 w0
i ¥
Part Number A (mm) B (mm)
PSCA-11.5/11.5UU 60 22
PSCS-11.5/11.5UU 68 254

Specifications

Finish: None Part Number . . i1 Weight
Part Number Height Weight METRIC INCH Primary material Finish [kg]
[mm] kgl PSCA-11.5 PSCA-11.5UU ~ Aluminum  Black Anodized 0.02
PSTM-12.5-M16 12.5 0.045 PSCS-11.5 PSCS-11.5UU Stainless Steel None 0.06




Adapter Plates for Pedestal / Pedestal Spacers | SP-T/Ps-SP
Small Pedestal Bases SPS

SP-T & W6041

Adapter plates attach to the top of Pedestal Bases to adjust th height Application

X . Systems
of an optical system or unit.
. o . Optics &
® Used in combination with a Pedestal and Pedestal clamp. Optical
® The SP-25T is designed primarily for 25x25mm stages with M2 mounting holes, Coatings
and the SP-40T is designed primarily for 25x25mm and 40x40mm stages with M2 -
. pto-
and M3 mounting holes. Mechanics
ll Guide Outline Drawing I Bases
P Use pedestal adapters (PS-SP) to increase the thickness of the _ Countersunk screw _ Countersunk screw
pedestal and adapter plate assembly. SP-25T V0. soews SP-40T M4><1f(-)--1 screws | CAD||CAD
[Reference ) U DIUSISRN ) WEB Reference| w6042 8-M3 16 16 5 Manual
» Custom sizes or shapes not listed in the catalog are available. 20 l Stages
Contact our Sales Division for more information. 8-M2
o | o]
—gs = Primary material: Aluminum © * AG!:IIatOI’S &
Specifications Finish: Black Anodized N -C-’r Js . A Adjusters
Weight S S o ©
Part Number k] L E 5 & Motoeized
SP-25T 0.009 m © / © o Stages
SP-40T 0.02 sorew hole 4-M2 M4 countersunk screw hole
Light Sources &
Laser Safety

pssp___________________ 4 @E@weos2 ™

Auxiliary spacer plates for pedestal (SP-T). This product enables users to change fine adjustment
that cannot be managed with adapter plates for pedestal. Guide

: o p Vibration
Outline Drawing Specifications ’firr';gﬁnyTﬁ;e"al- Stainless Steel Isolation Systems

A Weight i
PS-SP Part Number [mml [kg] Optical Tables
L. PS-0.5SP 0.5 0.002 7 Darkrgoms/
PS-0.8SPUU 0.8 0.003 )
PS-1SP 1 0.004 7 Optical Bases
° PS-1.2SPUU 1.2 0.005 7
g 8 PS-1.6SPUU 1.6 0.006 . Posts
PS-2SP 2 0.008 )
PS-2.3SP 23 0.01 ) Brackets
PS-2.5SPUU 2.5 0.01 7
PS-3.1SPUU 3.1 0.012 7 Adapters
ll Guide PS-3.5SPUU 35 0.014 }
PS-3.9SPUU 3.9 0.016 ) Tools
» Custom sizes or shapes not listed in the catalog. PS-4.3SPUU 4.3 0.017

Contact our Sales Division for more information.

E B8 W6079

The small post stand is used for optic mount holders of $15 mm or less.
® These posts can be positioned anywhere on at able with the clamp (RC series).

@ Posts can be placed directly on the vibration isolator and optical bench. =ollEo
Specifications Frimary material: Stainless Steel Outline Drawing
A Weight .
Part Number Dog Point Set Screws
[mm] kal SPS [ SZvatae. 1 sorews
/ . " SPs-12.5 125 0.01
¢  SPS-15 15 0.013
1 ~ SPS-20 20 0.017 M4 depth 6
SPs-25 25 0.023 i’
| SPS-30 30 0.027 212 ¢2.5 locking hole
SPS-35 35 0.03 S i <[
wn

l Guide

» Stand Base/Stand Clamp
[Reference ) MDZOGYA > Wes Reerence) w6081

WEB http://www.sigma-koki.com/english/ E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550 D055




Application
Systems

Optics &
Optical
Coatings
Opto-
Mechanics
Bases [ |

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets
Adapters

Tools

D056

SPS-SP
SC/CHS

Small Pedestal Adapters
Dog Point Set Screws / Thread Adapters

Adapter plates attach to the top of Pedestal Bases to adjust th height of an
optical system or unit.

&8 W6080
SPS-SP

Primary material: Stainless Steel E Dog Point Set Screws

Specifications

Finish: None SC-M4-16EE...1 screw (2SP, 2.3SP only)
i A
P Part Number [mAm] W[i'g]ht .
- S "SPS-0.5SP 05 0.00025
S SPS-1SP 1 0.005 " .
SPs-2sP 2 0.001 R
SPS-2.35P 23 0.0012
 SPS-3SP 3 0.0015
SPS-4SP 4 0.002
E W6085

Dog Point Set Screws are available in M4 or 8-32UNC thread sizes. They are sold in packs of 10.

B Guide Outline Drawing
» These can be used with the Post (RO-EE/
UU) and the Post Sfaud (PST) family. sc CAD||CAD

Primary material: Steel

Specifications Finish: Chrome plating
A B Quantity
Part Number [mm] [mm] C o [Pieces]
SC-8U-14UU 14 10 5/64 (2) 8-32UNC 10
SC-8U-16UU 15.6 11.6 5/64 (2) ) 8-32UNC 10
SC-8U-18UU 17.5 13.5 5/64 (2) ) 8-32UNC 10
SC-8U-20UU 19.5 15.5 5/64 (2) 8-32UNC 10
SC-8U-21UU 21 17 5/64 (2) 8-32UNC 10
SC-M4-14EE 14 10 2 ) M4 10
SC-M4-16EE 15.6 11.6 2 M4 10
SC-M4-18EE 17.5 13.5 2 M4 10
SC-M4-20EE 19.5 15.5 2 M4 10
SC-M4-21EE 21 17 2 M4 10
CHS B8 W6084

CHS is a thread adapter with two male sides. The first type has M6P1 on one side and M4 on the
other. The imperial version has 1-4/20UNC on one side and 8-32UNC on the other side.

® These adapters come in packs of 10.

ll Guide

P These can be used with the Post (RO-EE/UU)
and the Post Sfaud (PST) family.

Outline Drawing
ons

A \ /C

Primary material: Stainless Steel

Specifications Finish Nore
A B Quantity
Part Number [mm] [mm] C D [Pieces]
- CHS-M4-M6-5 3 5 M4 M6 P1 10
CHS-M4-M6-9 3 9 M4 M6 P1 10
CHS-1/4-8U-5 1/8 (3.2) 5 8-32UNC 1/4-20UNC 10
CHS-1/4-8U-9 1/8 (3.2) 9 8-32UNC 1/4-20UNC 10




Posts | RO/ROU/ROC

B8 W6052

Stainless steel posts. The RO model is fitted with an M6 external thread at one end, the ROU model
is fitted with 1/4-20UNC inch external thread, and the ROC model is fitted with an M4 external

thread.

rawing

@ The through hole the side allows for easy tightening
and loosening with a wrench.

[ Guide

p Custom sizes not listed in the catalog can be made to print.
Contact our Sales Division for more information. Use the Question
Sheet for Special Order Posts. DIEIEE W6053

P High stability ball plunger post holders (BRS), post holders (RS)
[EEEEI D060, D061

2D
CAD

3D
CAD

RO-6 RO-12 ROU-12
9]
¢2 locking hole - 4 locking hole S § ¢4 locking hole ke
O)| o B o O/ N
% (3 g S j\: 8 S|
N g 7
i’é
4 A 5 15
5 A A
ROC-12 RO-20 ROU-20
¢4 locking hole :g,, - 4 locking hole % o $4 locking hole
= § X
;¢ %2 / o 2
}E & ¢ g / ‘;ﬂ
! < s
o]
4 A |_10_| 15
5 A
¢6 / ¢1 2 Eir:i'r;::rergieriaI: Stainless Steel ¢20 Eir':ri'r;ﬁ:ergﬁteeriaI: Stainless Steel
Part Number Dl[a:‘:nn(:]ter 0 mAm] W[i'g]ht Part Number D|E1r1nrﬁ]ter mm] W[i'g]ht
RO-6-15 15 0.004 RO-20-20 20 0.05
RO-6-20 20 0.005 RO-20-30 30 0.07
RO-6-25 6 25 0.006 RO-20-40 40 0.1
RO-6-30 30 0.007 RO-20-60 60 0.15
RO-6-40 40 0.008 RO-20-80 80 0.2
RO-6-50 50 0.009 RO-20-100 100 0.25
RO-12-20 20 0.02 RO-20-110 110 0.27
RO-12-30 30 0.03 RO-20-120 ¢20 120 0.3
RO-12-40 40 0.04 RO-20-130 130 0.32
RO-12-60 60 0.05 RO-20-150 150 0.37
RO-12-80 80 0.07 RO-20-200 200 0.5
RO-12-100 100 0.09 RO-20-250 250 0.62
RO-12-120 12 120 0.1 RO-20-300 300 0.74
RO-12-130 130 0.12 RO-20-400 400 0.98
RO-12-150 150 0.13 RO-20-500 500 1.23
RO-12-200 200 0.18 ROU-20-30 30 0.07
RO-12-250 250 0.22 ROU-20-60 $20 60 0.15
RO-12-300 300 0.27 ROU-20-80 (€1.5) 80 0.20
RO-12-400 400 0.36 ROU-20-100 100 0.25
RO-12-500 500 0.44
ROU-12-30 30 0.03
ROU-12-60 12 60 0.05
ROU-12-80 (€1.5) 80 0.07
ROU-12-100 100 0.09
ROC-12-30 30 0.03
ROC-12-60 912 60 0.05
ROC-12-80 (©3) 80 0.07
ROC-12-100 100 0.09 ROC-12

WEB http://www.sigma-koki.com/english/

E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550

Application
Systems

Optics &

Optical

Coatings

Opto-

Mechanics
[l Bases

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets
Adapters

Tools

D057




Application
Systems

Optics &
Optical
Coatings
Opto-
Mechanics
Bases [ |

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets
Adapters

Tools

D058

Posts | RO-EE/UU

RO-EE/UU

1/2" Stainless Steel Posts

W6083

® The through-hole on the side of the post allows for tightening and loosening of the post with a hex wrench.
® Accessories can be selected from the type of M4 and M6 or inch type.

Example of use

fl Guide

P Custom sizes can be made to order. Use the QuestionSheet for
Special Order Posts. PIEIEER W6053

RO-EE/UU

E special screw SC-M4-14EE...1 screws, CHS-M4-M6-5...1 screws (EE)
special screw SC-8U-14UU...1 screws, CHS-1/4-8U-5...1 screws (UU)
12.7 b RO-12,7-% *EE RO-12.7-% *UU
depth 6 3 <
® 7 ~ , % g § g,
1 o Q:‘ @:t
?4 <
Jocking [\ M4 . M6 8-32UNC 1/4-20UNC -
holg [g]_w < fE] o
ole )i -.f_' M4 O m m Tl sane “ =
@ B
&Ir i Accessory  Accessory Accessory Accessory
c Screw Screw Screw Screw
depth9  SC-M4-14EE  CHS-M4-M6-5 SC-8U-14UU CHS-1/4-8U-5

C: EE type M6P1, UU type 1/4-20UNC
D: EE type M4, UU type 8-32UNC

Primary material: Stainless Steel

Specifications

Finish: None

Part Number A Weight

METRIC INCH [mm] [kg]
RO-12.7-25.4EE RO-12.7-25.4UU 254 0.026
RO-12.7-38.1EE RO-12.7-38.1UU 38.1 0.038
" RO-12.7-50.8EE RO-12.7-50.8UU 50.8 0.051
RO-12.7-76.2EE RO-12.7-76.2UU 762 0.077
" RO-12.7-101.6EE RO-12.7-101.6UU 101.6 0.102
RO-12.7-152.4EE RO-12.7-152.4UU 152.4 0.153
" RO-12.7-203.2EE RO-12.7-203.2UU 203.2 0.204
" RO-12.7-304.8EE RO-12.7-304.8UU 304.8 0.306




Poles | PO B8 W6053

Used for rotary and regular cross clamps.

@ Can be combined with other posts via a cross clamp or rotary cross clamp.
® The PO-12 model is secured with a 17 mm wrench on the flats of the external thread.
® Tthe PO-20 model is secured using a wrench inserted into the through hole.

ll Guide

» Custom sizes not listed in the catalog can be made to print.
Contact our Sales Division for more information. Use the Question
Sheet for Special Order Posts.
| ) WE Reference| W6053

2D||3D
CAD|(CAD

Outline Drawing

PO-12

an M=z
j hd

PO-20 ¢4 locking hole

P

$12 g6

¢4 locking hole

$20
M16P1
[
M16P1
o
[ ]
$20 g6

Specifications Primary material: Stainless Steel

Finish: None
Part Number Di;mﬁ]ter [mAm] W[iig]ht
PO-12-100 100 0.1
PO-12-120 ' 120 0.13
PO-12-150 ' 150 0.15
PO-12-200 o1z 200 02
PO-12-250 250 0.24
PO-12-300 ' 300 0.29
PO-12-400 ' 400 038
PO-12-500 ’ 500 0.46
PO-20-100 100 025
PO-20-120 ' 120 0.3
PO-20-150 ' 150 037
PO-20-200 ' 200 05

$20 :

PO-20-250 250 0.62
PO-20-300 ' 300 0.74
PO-20-400 ' 400 0.99
PO-20-500 ’ 500 1.24

WEB http://www.sigma-koki.com/english/ E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550

Application
Systems

Optics &

Optical

Coatings

Opto-

Mechanics
[l Bases

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets
Adapters

Tools

D059




Application
Systems

Optics &
Optical
Coatings
Opto-
Mechanics
Bases [ |

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets
Adapters

Tools

D060

High Stability Ball Plunger Post Holders | BRs BB W6043

Used for coarse/fine rotation and height adjustments of posts.
The posts has three poits of contact with the post holder as opposed to the conventional two
contact points.

® The plunger prevents posts from slipping as well ad smooth adjustment
with one hand when the clamp is loosened.

@ The adjustment screw on the bottom of the post holder can be rotated
in 90 degree increments.

® Can be mounted with different adapters.

: Clamp
: . ) Holder Post _ .
o s @ - g
; . 1 line and 1 point 2 lines and 1 point )
Il Guide

P Extra clamp screws (RS-CB) can be purchased separately.

Fererenced P W6046

2D| (3D
CAD|(CAD

Outline Drawing

$22
BRS-12 51222 Post fixing olamp BRS-12.7 oy postivingclamp BRS-20 zgg Post fixing clamp
© = © N - © [
| - | : I
o o o
& s Q\,le s & 5
| y (D g { 2k
¢ =
26 e 26 e o
Height fixing clamp Height fixing clamp 30 Height fixing clamp
T4 AFE T
a || B s g | B s s
it 2 < < 2 i ©
<4 5 s < R
Special link pin il ol Special link pin
Wrench size 2.5 . . i Wrench size 2.5
Special link pin
[t} Wrench size 2.5
<
0 1/4-20UNC 0
~ 16P1 N 16P1  A-8.5 = Post limit position
- 5 Primary material: Aluminum - - Primary material: Aluminum - . Primary material: Aluminum
Inner Diameter: 12 o, g arosizes Inner Diameter: 12.7 Finsh: Black Anodized Inner Diameter: 20 ¢, gy progizes
A Weight A Weight A Weight
Part Number [mm] kal Part Number [mm] kal Part Number [mm] kal
BRS-12-30 30 0.05 BRS-12.7-25.4UU 25.4 0.04 BRS-20-30 30 0.07
40 0.06 BRS-12.7-38.1UU 38.1 0.06 40 0.09
50 0.07 BRS-12.7-50.8UU 50.8 0.07 50 0.1
60 0.08 BRS-12.7-63.5UU 63.5 0.08 60 0.12
80 0.1 BRS-12.7-76.2UU 76.2 0.1 80 0.16
100 0.12 BRS-12.7-101.6UU 101.6 0.12 100 0.19
120 0.14 BRS-12.7-127UU 127 0.15 120 0.22
BRS-12-130 130 0.15 BRS-12.7-152.4UU 152.4 0.18 BRS-20-130 130 0.24
option] Thread Adapters for High Stability Ball Plunger Post Holders | BRS
BRS-12-M6 BRS-12-PSA BRS-20-M6 Thread adapters for high stability ball plunger
BRS-12-M6-PSA BRS-20-1/4UU
BRS-12.7-1/4UU-PSA post holders (BRS).
Sp ecifications E{':EﬁrergieriaI: Stainless Steel
Compatible Post Weight
Part Number Holders A k]
BRS-12-M6 BRS-12 - 0.013
BRS-12-PSA BRS-12 7 M16 P1 0.023
BRS-12-M6-PSA BRS-12 7 M6 P1 0.03
BRS-12.7-1/4UU-PSA BRS-12.7 1/4-20UNC 0.03
Ioclking BRS-20-M6 BRS-20 M6 P1 0.03
hole ¢3 -
o BRS-20-1/4UU BRS-20 1/4-20UNC  0.03




Post Holders RS
C Shape Post Collars | TRC

W6044
Used for height and rotational coarse adjustment of a post.

@® To secure a holder, insert the post into the post holder. Clamp the post with the clamp
screw on the main body and the clamp on the post fixing clamp.

® The post can be be coarsely rotated by loosening the clamp on the main body and
keeping the post fixing clamp tightened.

® There are three tapped holes for the clamp screw on the main body. This allows the user
to move the clamp if it is interfering with other objects. (Note that the RS-30 model comes
with three clamp screws as standard.)

® The air-vent hole enables easy one handed loading/unloading of a post.

ll Guide Inner Diameter: 6 Primary materlal: fluminum
P Extra clamp screws (RS-CB) can be purchased. A Weight
Part Numb
separately. [T D063 art Number [mm] [kl
15 0.008
s . 20 0.009
Outline Drawing 55 i
30 0.011
RS-6 RS-12 GEA@D ?E) 35 0.012
212 $22 40 0.013
$12 H7
$6H7 Primary material: Brass
v): ‘ N i :19 Finish: Black matte
© - o < .
» © Part Number R Wi'ght
912 Post fixing clamp Post fixing clamp [mm] [kg]
®22 RS-12-30 30 0.1
26 HT 12 H7 35 0.12
° | 40 013
P = - g 45 0.14
= s ’ o 50 0.15
o+ Height fixing clamp 55 0.16
— < 60 0.17
Height fixing clamp 80 0.22
100 0.26
= 120 0.3
b lwepy 130 0.32
Primary material: Brass
Finish: Black matte
A Weight
Part Number fmmi kol
RS-20-30 30 0.16
Lo 35 0.17
< “<? 40 0.19
o 45 0.21
Height fixing clamp 50 0.02
- 55 0.24
= 60 0.26
b M16P1 80 0.32
100 0.38
120 0.45
RS-20-130 130 0.48

W6082
Optional parts for posts (RO)

@® These post collars prevent posts from sliding into the post holders and act as a physical stop.
@ C shape post collars can be installed without removing the posts from existing systems.

ll Guide Jl Attention

p Contact our Sales Division if the standard P This product is delivered only by mail.
intermediate ring equipped with the post is
needed to be replaced with the C shape

intermediate ring. 2D|(3SD
CAD||CAD

Specifications Frimary material: Aluminum Outline Drawing
Part Number '“”er[g‘;']“e‘er Quantity [Pieces] TRC-12/12.7 TRC-20
TRC-12 o12 5 - /;P
TRC-12.7 p12.7 5
TRC-20 $20 5 ‘
A $20 $30
Part Number (mm) SAHT 20 17
TRC-12 12 i _ [ _
TRC-12.7 127 w\’ I = o [T 1T H 2

WEB http://www.sigma-koki.com/english/ E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550

Application
Systems

Optics &

Optical

Coatings

Opto-

Mechanics
M Bases

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets
Adapters

Tools

D061




Application
Systems

Optics &
Optical
Coatings
Opto-
Mechanics
Bases [ |

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems
Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts

Brackets
Adapters

Tools

D062

RCA/RC
HCS-H

Stand Base/Stand Clamp
Helicoidal Jacks

RCA/RC

B8 W6081

The base allows for posts to be positioned close together with the magnet of the clamps.

® Rod stand base can be secured onto a steel lab bench
with the magnet, or with the clamp.

@ The clamps locks down the rod stand at any angle
about a tapped hole.

CAD||CAD

ine Drawing

RCA RC-10*-17/25
E Hexagon socket head cap screw
(stainless steel construction)
M6x15...1 screws,Flat washer
A depth 5.5 RC-10*-17UU/25UU
E Hexagon socket head cap screw
(stainless steel construction)
1/4-20UNCx5/8...1 screws,Flat washer
A
10 15
420 T
$10 .
gD @::J — s
3 locking | & i }
hole
D , 8 ~ I L | ol
ZAN I -
Magnet ¥
_ — $20 5
= L = = -
A A B
Part Number () Part Number () ()
RCA-M16 M16 P1 RC-10-17/RC-10A-17 42 17
RCA-Mé6 M6 RC-10-25/RC-10A-25 50 25
RCA-1/4UU 1/4-20UNC

Specifications L
Part Number Product Name To hold Mounting V\I[Ie(igg]ht
RCA-M16 Stand Base M16 Rod Stand Magnet, Stand Clamp (RC-10) 0.023
| RCA-M6 Stand Base M6 Rod Stand Magnet, Stand Clamp (RC-10) 0.035
| RCA-1/4UU Stand Base 1/4 INCH Rod Stand Magnet, Stand Clamp (RC-10) 0.035
RC-10-17 Stand Base Stand Base (RCA-M16) Hexagon socket head bolt M6x15 0.027
| RC-10A-17 Stand Base Stand Base (RCA-M16) Hexagon socket head bolt M6x15 0.009
| RC-10-25 Stand Base Stand Base (RCA-M16) Hexagon socket head bolt M6x15 0.031
| RC-10A-25 Stand Base Stand Base (RCA-M16) Hexagon socket head bolt M6x15 0.011
| RC-10-17UU Stand Base Stand Base (RCA-1/4UU) Hexagon socket head bolt 1/4-20UNCx5/8 0.027
| RC-10-25UU Stand Base Stand Base (RCA-1/4UU) Hexagon socket head bolt 1/4-20UNCx5/8 0.031
| RC-10A-17UU Stand Base Stand Base (RCA-1/4UU) Hexagon socket head bolt 1/4-20UNCx5/8 0.009
| RC-10A-25UU Stand Base Stand Base (RCA-1/4UU) Hexagon socket head bolt 1/4-20UNCx5/8 0.011

HCS-H

Coarse adjustment Helicoidal Jack with 15 mm of Travel

@ The upper plate moves upward without rotating.
® The helicoid screw system, provides 15mm/rotation of
smooth movement.

HCS-H

ﬂ Hexagonal socket head cap screw
M4x8...4 screws 32

| Example of Combinations |

o o

Helicoidal jack
connected to a post
holder.

Specifications

Load Capacity Weight
Part Number IN] kal
HCS-H 19.6 (about 2.0kgf) 0.45

BRW6047

Outline Drawing

.
25 25 CAD((CAD

25
32

0 O
oAt

2A0gliS

60

8-M4 depth 7 /jL
=~

F:

Id

U

27
50
64

25

4-M3 depth 7

©
3 M16 P1 depth 7
i
£ P74 14
|
[ J
9
~ T
X e
8
L .
vr 50
64 4-4.5 mounting hole




Helicoidal Post Holders
Clamp Screws (For post holders)

RSN
RS-CB

Helicoidal Post Holder.

rotation) in the Z direction.

helicoid ring.

[l Attention

» Turning the height adjustment rotary section

W6048

® Turning the height-adjustment rotary section allows movement of 10mm (about 5mm/

@® To secure a post, insert the post into the post holder, and clamp it down using the two
clamp screws on the side of the main body. The upper clamp screw on the side of the main
body is designed to secure a post, and the lower clamp screw is designed to secure a

® The helicoid screw allows for Z travel of a post without rotating the post.

2D|(|8SD
CAD||CAD

Outline Drawing

exooeeiely may Caes locking, RSN-12 RSN-12.7EE/12.7UU  RSN-20
12 H7 $12.7 HT #20 H7
3 8 3 3
Primary material: Aluminum s ) = e
Specifications Finish: Black Anodized 25)
Inner Diameter Diameter Weight - Post fixing clamp i o Post fixing clamp I Post fixing clamp
Part Number [mm [mm] kol o T of T 1 of T
RSN-12 12 ¢30 0.16 _ Height adjustment ——— U heignt adjustment Height adjustment
’ﬁ’éﬁ’_’i’z”%’é’é ””””” 4; :"2’ ’7’ ””””””” d’) ’3’(’) ”””””” d ’1’6’ - ) | rotary section rotary section ) rotary section
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, I o 3
RSN-12.7UU p12.7 #30 0.16 h R = -
fffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffffff Height fixi
RSN-20 ‘1)20 ¢738 0.21 0P =1 Height fixing clamp U= 0o eight fxing clamp Height fixing clamp
T A s
M16P1 Part Number A M16P1
RSN-12.7EE M6 P1
RSN-12.7UU 1/4-20UNC

W6046

Clamps for high stability ball plunger post holders (BRS-12, BRS-20) and post holders (RS-12, RS-20, RS-30).

® Used to secure posts inserted in post holders.
® Three of these clamp screws can be used on the RS
model post holders for maximum holding strength.

- o

©

WEB http://www.sigma-koki.com/english/

ll Guide

» High Stability Plunger Post Holders (BRS)
[EEErDI D060 DIEITES W6043
» Post Holders (RS)
[Reference ) RIOCHIN ) WEB Reference W6044

Jl Attention

P This product is delivered only by mail.

2 = Primary material: Brass

Specmcatlons Finish: Chrome Plated
Quantity

Part Number [Pieces]

RS-CB 5

E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550

Application
Systems

Optics &

Optical

Coatings

Opto-

Mechanics
M Bases

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets
Adapters

Tools

D063




Application
Systems

Optics &
Optical
Coatings
Opto-
Mechanics
Bases [ |

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems
Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts

Brackets
Adapters

Tools

D064

Rotary Cross

Cross Clamps

Clamps

CRHN
CCHN

Rotary cross clamps connect two posts/poles at an arbitrary angle.

® The split clamp structure provides strong clamping force.

B8 W6055

Specifications Fnion: Biack Aqodized
Weight

Part Number Ikl

CRHN-6-6 0.032

CRHN-12-6 0.078

CRHN-12.7-6 0.078

CRHN-12-12 0.1

CRHN-12.7-12.7 0.1

CRHN-20-12 0.167

CRHN-20-20 0.196

Outline Drawing

CRHN-6-6
$6 H7 26 _9
=3 ~ ﬂ.ﬁ:w
z 414
of g g
2 = E
! Insert Ay
@ 18
CRHN-12-6/CRHN-12.7-6
14 33 _ 14 2% 9
17 $28 18_8| | ¢6
4
© all
S
4 1T X AR\ -
J Insert }’ R=Y
SAH7 $6 H7 30
A
Part Number (mm)
CRHN-12-6 12
CRHN-12.7-6 12.7
CRHN-20-12
14 52 14
24 $36 28 18_ 14
1o
ST PN L w—l
N J - L Insert et 9]
H ” ¢ 12
$20 H7 12 H7 40

Cross clamps connect two posts/poles at

right angles.

® The split clamp structure provides strong clamping

force.

Specifications

Primary material: Aluminum
Finish: Black Anodized

2D| (3D
CAD||CAD
CRHN-12-12/CRHN-12.7-12.7
14 33 14 28 18_14
17 928 o,
[ " Y
JHTE | Y - X
J 9 =40 = Insert 9

oAHT | | \gpAH7

30 ¢12

A
Part Number (mm)
CRHN-12-12 12
CRHN-12.7-12.7 12.7
CRHN-20-20
14 52 14 33 28 _ 14,
24 $36 14
- (14

.

40

$20 H7 $20 H7

el B e

Insert

40 $20

Weight
Part Number k]
CCHN-6-6 0.021
CCHN-12-6 0.065
CCHN-12.7-6 0.065
CCHN-12-12 0.06
CCHN-12.7-12.7 0.06
CCHN-20-12 0.128
CCHN-20-20 0.11

B8 W6054

Outline Drawing

CCHN-6-6

9

2D0|(|SD
CAD||CAD

15

< il

96 H7

CCHN-12-6/CCHN-12.7-6

CCHN-12-12/CCHN-12.7-12.7

14 33 14 14 33 14
17, $28 Fﬂ’ $28
3 Ijr i 2 Jrjq 'T/ )
PA H7 ¢6 H7 30 DA H7 DA H7 30
Part Number A (mm) Part Number A (mm)
CCHN-12-6 12 CCHN-12-12 12
CCHN-12.7-6 12.7 CCHN-12.7-12.7 12.7
CCHN-20-12 CCHN-20-20
14 52 14 14 52 14
24 $36 24 $36
m THL ™
g t S }
1 3§ Lot 3 g Ll
L 9 L )
$20 H7 $12 H7 40 $20 H7 $20 H7 40




Rod Mount Module / Z Angle Brackets | POSB/BLZ BB W6051

Rod Mount Modules attach directly to vibration isolator or laboratory bench tables . Attaching a Z
bracket at a right angle to the rod allows for horizontal adjusment.
Application
® The rod is composed of stainless steel and a vibration damping material. Systems
Compatible for 50mm and 50.8mm matrix mounting hole
Optics &
Optical

_ | Example Coatings

Opto-
Mechanics

Manual
Stages

— : Actuators &
POSB-177UN BLZ POSB-177UN + BLZ-60 Adjusters

Motoeized
Stages

Outline Drawing

POSB-UN POSB-# #UN#*EE/UU [ | AT ,
= CAD||cAD Light Sources &
H Hexagon socket E Hexagon socket 9 B )
head cap screw head cap screw ~ Y =2 Laser Safety
M6x15...4 screws M6x15...4 screws 1 sg
8 sg
sx
E Index
60 £s
46 _26.8 25 25 =8
[ ]| s ceptn7 6
rrﬁ c_c
& 9-D $38.1
N, .
2 “N’L o Q\ 8 depth 7 ] Guide
%116 P1 depth 6 ol 17 7 ¢ Vibration
—_— 0 " N Isolation Systems
< [ 3 3
o] | )
o o o < Optical Tables
) Darkrooms/
. . . . i . . Dark Boxes
*—F* e | ! I m; o i
4-¢7 mounting ‘ﬁole / 5(?.4 | ‘ L 50.4(Compatiole for 50mm and 50.8mm matrix mounting hole) ‘ L 50.4{Compatible for 50mm and 50.8mm matrix mounting hole) Optical Bases
(Compatible with 50 and 50.8) $88 $88
@11 counterbore
Posts
BLZ-60 BLZ-65EE/65UU BLZ-6550EE/6550UU
E Hexagon socket head cap screw E Hexagon socket head cap screw M6x15...4 screws(EE) E Hexagon socket head cap screw M6x12...2 screws(EE) Brackets
M4x12...4 screws Hexagon socket head cap screw 1/4-20UNCx5/8...4 screws(UU) Hexagon socket head cap screw 1/4-20UNCx1/2...2 screws(UU)
M16 P1 depth 6 | . 3-D 3-D
<B 25 25 G?M’\::‘ldze::h78*7 depth7\g B 60 7 depth7\g_ B gp 7 Adapters
( e through hole Jv through hole
mr‘ il of | 9 Tools
N o Py
“’L ¢ o o V; L © A4 2
« R o [ o & o &
’f”.’;[ B ik 3 o o ¢ 8 N
il MY T sl M T I
so |45 lig|ps A |N=97 s AN w5 |
60 45 65 47.5 65 22.5

Specifications 222’22’?&7323132’333? rST1t:te¢1.|‘(|’:;) ;fxlmf:i)num Finish: Black Anodized
Part Number [mAm] c D V"[“I’(‘g]ht
POSB-177UN 177.8 - - 2.1
POSB-355UN 355.6 - - 3.7
POSB-177UN65EE 177.8 25 M6 P1 22
POSB-355UNG5EE 355.6 25 M6 P1 38
POSB-177UN65UU 177.8 25.4 1/4-20UNC 22
POSB-355UN65UU 355.6 25.4 1/4-20UNC 338

Z Angle Brackets only e o inum
Part Number [mAm] [mE:n] c 2 W[iig]ht
BLZ-60 - - - - 0.18
BLZ-65EE 50 25 25 M6 P1 0.2
BLZ-65UU 50.8 25.4 25.4 1/4-20UNC 0.2
BLZ-6550EE 50 25 - M6 P1 0.14
BLZ-6550UU 50.8 25.4 - 1/4-20UNC 0.14

WEB http://www.sigma-koki.com/english/ E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550 D065




Application
Systems

Optics &
Optical
Coatings
Opto-
Mechanics
Bases [ |

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems
Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts

Brackets
Adapters

Tools

D066

Damped Rod / Rod Mount | POS/POSB

B8 W6051

B Guide

P The POS is the damped rod.

P The BLZ model is the Z Angle Bracket.

2D| (38D
CAD||CAD

Outline Drawing

POS-177EE/UU E Hexagon socket head cap screw M6x15...4 screws(EE)
POS-355EE/UU E Hexagon socket head cap screw 1/4-20UNCx1/2...4 screws(UU)

vibration insulator

$12 counterbore depth 7

<
@
B
$88

Part Number (mm) (mm)
POS-177EE 177.8 50.4(Compatible for 50mm and 50.8mm matrix mounting hole)
POS-355EE 355.6 50.4(Compatible for 50mm and 50.8mm matrix mounting hole)
POS-177UU 177.8 50.4(Compatible for 50mm and 50.8mm matrix mounting hole)
POS-355UU 355.6 50.4(Compatible for 50mm and 50.8mm matrix mounting hole)

POSB-65EE/UU

9-B depth 7

65

A A
% o o
<
8 o—0—0
<
o © 9
©
&
0!
<
il
Part Number s B
(mm)
POSB-65EE 25 M6 P1
POSB-65UU 25.4 1/4-20UNC

Part Number [mAm] [mE:n] W[iis%ht
POS-177EE 177.8 50 19

" POS-355EE 355.6 50 3.4
POS-177UU 177.8 50.8 19

" POS-355UU 355.6 50.8 3.4
POSB-65EE 25 M6 P1 03

" POSB-65UU 25.4 1/4-20UNC 03




Screw Set SCR/SKB/SKD/DK
Adapter Nuts | AND

SCR / SKB / SKD / DK B8 w6077

Screw sets frequently used to installOptoSigma products.

SCR-MEC SKB-JBX6 SKD-190

Black Pan-head Screw Sets / Stainless Steel Cap Screw Sets

Part Number Type e, 4 6 8 10 Le1nzgth [Tsm ] 18 20 25 30 Quantity Washer Flat\'ggzher
SCR-MEN2 M2 O O (@) O O @) (@) (@) — — 30 pieces each 240 pieces 240 pieces
Black panhead M3 o o o o o o o o - — 30 pieces each 240 pieces 240 pieces

screw M4 - O O O O O O O O — 30pieceseach 240pieces 240 pieces

SCR-MEN6 M6—— 77777 O 77777 O 77777 O 77777 O 77777 O 77777 O 77777 O 77777 O 20 pieces each 160 pieces 160 pieces
SCR-MEC3 M3 O O O O O O O O - - 30 pieces each 240 pieces 240 pieces
SCR-MEC4 77777 SUS cap screw M4— 77777 O 77777 O 77777 O 77777 O 77777 O 77777 O 77777 O 77777 O 77777 - 30 pieces each 240 pieces 240 pieces
SCR-MECG M6—— 77777 O 77777 O 77777 O 77777 O 77777 O 77777 O 77777 O 77777 O 20 pieces each 160 pieces 160 pieces

Ball Wrench Set Phillip’s Screw Driver with Grip

Part Number Wrench Size Part Number Size

SKB-JBX6 15,2,25,3,4,5 SKD-190-0-60 #0
SKD-190-1-80 #1
SKD-190-2-75 #2

Chronometer Driver Set

Part Number Size

DK-20 #0000, #000, #00, #0, #1 (two drivers)

AND 4 B8 6078

Adapter nuts for changing M6 tapped holes to M4 or 8-32 UNC tapped holes.

Outline Drawing

2D|(|38SD
AND-M6-M4

M4 M6 P1

Bl Guide

P It is attached to the simple nut driver.

Spe cifications Eir':rigﬁ:yNgﬁteeriaI: Stainless Steel
Attention Quantity Weight
I Part Number [Pleces] [ka]
P The 8mm-diameter area protrudes for Imm when mounted on a AND-M6-M4 10 0.011
flat surface.
» This product is delivered only by mail. AND-M6-8U 10 0.011

WEB http://www.sigma-koki.com/english/ E-mail international@sigma-koki.com TEL +81-3-5638-8228 FAX +81-3-5638-6550

Application
Systems

Optics &

Optical

Coatings

Opto-

Mechanics
[l Bases

Manual
Stages

Actuators &
Adjusters

Motoeized
Stages

Light Sources &
Laser Safety

Index

Guide

Vibration
Isolation Systems

Optical Tables
Darkrooms/
Dark Boxes
Optical Bases
Posts
Brackets
Adapters

Tools

D067




